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KVS DIRECT RECRUITMENT EXAMINATIONS
(Candidate Response Sheet)

Roll Number

Name of the Candidate

Examination Name KVS TGT Work Experience

Exam Date & Time 13-02-2023 09:00:00

Subject : GE_Q01-Q15_TGTWE

Question ID:- 181

 Options:-

.1, Option ID :- 721,

. 2, Option ID :- 722,

. 3, Option ID :- 723,

. 4, Option ID :- 724,
Answer Given:- 4, Option ID : -724

Question ID:- 182

 Options:-

.1, Option ID :- 725,

. 2, Option ID :- 726,

. 3, Option ID :- 727,

. 4, Option ID :- 728,
Answer Given:- 1, Option ID : -725

Question ID:- 183

Choose the word similar in meaning to the one given below :

Friendly

(1) Cruel
(2) Hard
(3) Hostile
(4) Amicable

Choose the word similar in meaning to the one given below :

Gracious

(1) Graceful
(2) Polite
(3) Good
(4) Handsome

https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
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 Options:-

.1, Option ID :- 729,

. 2, Option ID :- 730,

. 3, Option ID :- 731,

. 4, Option ID :- 732,
Answer Given:- 4, Option ID : -732

Question ID:- 184

 Options:-

.1, Option ID :- 733,

. 2, Option ID :- 734,

. 3, Option ID :- 735,

. 4, Option ID :- 736,
Answer Given:- 1, Option ID : -733

Question ID:- 185

 Options:-

.1, Option ID :- 737,

. 2, Option ID :- 738,

. 3, Option ID :- 739,

. 4, Option ID :- 740,
Answer Given:- 2, Option ID : -738

Question ID:- 186

Choose the word opposite in meaning to the one given below :

Initial

(1) Previous
(2) Temporary
(3) Permanent
(4) Final

Choose the word opposite in meaning to the one given below :

Mobile

(1) Stationary
(2) Fluctuating
(3) Errant
(4) Stative

Identify the Part of Speech of the underlined word in the following sentence :

My brother is coming to stay here.

(1) Noun
(2) Verb
(3) Adjective
(4) Adverb

https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
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 Options:-

.1, Option ID :- 741,

. 2, Option ID :- 742,

. 3, Option ID :- 743,

. 4, Option ID :- 744,
Answer Given:- 3, Option ID : -743

Question ID:- 187

 Options:-

.1, Option ID :- 745,

. 2, Option ID :- 746,

. 3, Option ID :- 747,

. 4, Option ID :- 748,
Answer Given:- 4, Option ID : -748

Question ID:- 188

 Options:-

.1, Option ID :- 749,

Identify the Part of Speech of the underlined word in the following sentence :

The book contains a lot worthy of remark.

(1) Noun
(2) Verb
(3) Adjective
(4) Adverb

Choose the option in which jumbled words/phrases have been rearranged to make correct sentence.
(A) cable was left
(B) of die wall
(C) poking out
(D) the end of the

(1) CDAB
(2) BACD
(3) ABDC
(4) DACB

Choose the option in which jumbled words/phrases have been rearranged to make correct sentence.
(A) point of view
(B) been written
(C) the book has
(D) from Cathy's

(1) CBDA
(2) BCDA
(3) DABC
(4) ACBD

https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
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. 2, Option ID :- 750,  

. 3, Option ID :- 751,  

. 4, Option ID :- 752,  

 Answer Given:- 1, Option ID : -749  
   
   
 Question ID:- 189  

   

 Options:-  

.1, Option ID :- 753,  

. 2, Option ID :- 754,  

. 3, Option ID :- 755,  

. 4, Option ID :- 756,  

 Answer Given:- 2, Option ID : -754  
   
   
 Question ID:- 190  

   

 Options:-  

.1, Option ID :- 757,  

. 2, Option ID :- 758,  

. 3, Option ID :- 759,  

. 4, Option ID :- 760,  

 Answer Given:- 1, Option ID : -757  
   
   
 Question ID:- 191  

   

 Options:-  

.1, Option ID :- 761,  

. 2, Option ID :- 762,  

. 3, Option ID :- 763,  

Choose the option in which VOICE in the following sentence has been correctly changed.
He does not particularly like the work.
(1) The work is not liked by him
(2) The work is not particularly liked by him
(3) The work is not liked particularly by him
(4) The work is generally liked by him

Choose the option in which VOICE in the following sentence has been correctly changed.
Have you written the letter ?
(1) Has the letter been written by you ?
(2) Has the letter been written ?
(3) Had the letter been written ?
(4) Has the letter been written by you.

Identify the tense form in the following sentence.
I have been going through this report.
(1) Present Perfect
(2) Present Perfect Continuous
(3) Present Continuous
(4) Future Continuous

https://applink.adda247.com/d/XhqWf9lSap
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. 4, Option ID :- 764,  

 Answer Given:- 2, Option ID : -762  
   
   
 Question ID:- 192  

   

 Options:-  

.1, Option ID :- 765,  

. 2, Option ID :- 766,  

. 3, Option ID :- 767,  

. 4, Option ID :- 768,  

 Answer Given:- 4, Option ID : -768  
   
   
 Question ID:- 193  

   

 Options:-  

.1, Option ID :- 769,  

. 2, Option ID :- 770,  

. 3, Option ID :- 771,  

. 4, Option ID :- 772,  

 Answer Given:- 3, Option ID : -771  
   
   
 Question ID:- 194  

   

 Options:-  

.1, Option ID :- 773,  

. 2, Option ID :- 774,  

. 3, Option ID :- 775,  

. 4, Option ID :- 776,  

 Answer Given:- 3, Option ID : -775  
   
   

Identify the tense form in the following sentence.
They had been living here for four years.
(1) Present Perfect Continuous
(2) Past Continuous
(3) Past Perfect
(4) Past Perfect Continuous

Fill in the blank in the following sentence with suitable option.
He was hit
(1) with; along
(2) in; in
(3) by; on
(4) by;along

the road.a car

Fill in the blank in the following sentence with suitable option.
charge.My laptop has run

(1) on in
(2) in for
(3) out of
(4) on for

https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap


2/23/23, 10:45 PM Response Sheet

https://kvsexam13feb23s1.cbtexam.in/Candidate/ResponseSheet.aspx?Urlval=fa871369-2971-460b-9691-98a128654623&Rollno=220424405… 6/107

 Question ID:- 195  

   

 Options:-  

.1, Option ID :- 777,  

. 2, Option ID :- 778,  

. 3, Option ID :- 779,  

. 4, Option ID :- 780,  

 Answer Given:- 3, Option ID : -779  
   
 Subject : GH_Q16-Q30_TGTWE  
   
   
 Question ID:- 196  

   

 Options:-  

.1, Option ID :- 781,  

. 2, Option ID :- 782,  

. 3, Option ID :- 783,  

. 4, Option ID :- 784,  

 Answer Given:- 4, Option ID : -784  
   
   
 Question ID:- 197  

Choose the option in which the given sentence has been correctly changed into indirect Narration.
The gardener said, "Please keep off the grass".
(1) The gardener ordered the public to keep off the grass.
(2) The gardener told the public to keep off the grass.
(3) The gardener requested the public to keep off the grass.
(4) The gardener advised the public to keep off the grass.

Pinfcinad 3TPJR TR fdT TJ. TRd dd RZtdT drR :

=tv<? uii d>r MR 3TTTRRF> % i HHN^IÎ % MR -CJHI TfsRnif d>T
WTTt%RRTR if ^*HSNdl 3RRt-3RRl T^TT %fadR if RTdt t; dfd WJR if ^3T RFT dt d^-

if M WTddT dft T^FddT c^dld) fdRft-d f̂ Rl RT if <*> <?u|| # ^dt I Rd disRT d?ff %
WR dft -HSlddl dd MRUIIH Uc^F dd ddrdm dfftlift d^[ dd 3Tf T̂5TRT t%TRTR if Rd̂ dft RdlddT
fcJ^ -cHI dRT FdRdd fd TO % ^Rd MRUIIH XR «SdR d# dft TOft died) Rd d t̂ Rd: TT^rT dR^dFdt
£kull if d>l dldl 'll

=b <?°ll dd ¥RR 3dd?dd> 1? :

(1) RIHlf4d> 41=H % ^jJdR % tdTT
(2) RRFd % iTO % fvT^
(3) Rdt % 4tdd if % fRT
(4) *)Hlf4d> 41dH dfl fisrfd RR 'jfe % 1dRr

https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
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 Options:-  

.1, Option ID :- 785,  

. 2, Option ID :- 786,  

. 3, Option ID :- 787,  

. 4, Option ID :- 788,  

 Answer Given:- 4, Option ID : -788  
   
   
 Question ID:- 198  

   

 Options:-  

.1, Option ID :- 789,  

. 2, Option ID :- 790,  

. 3, Option ID :- 791,  

. 4, Option ID :- 792,  

 Answer Given:- 3, Option ID : -791  
   
   
 Question ID:- 199  
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 Options:-  

.1, Option ID :- 793,  

. 2, Option ID :- 794,  

. 3, Option ID :- 795,  

. 4, Option ID :- 796,  

 Answer Given:- 3, Option ID : -795  
   
   
 Question ID:- 200  

   

 Options:-  

.1, Option ID :- 797,  

. 2, Option ID :- 798,  

. 3, Option ID :- 799,  

. 4, Option ID :- 800,  

 Answer Given:- 2, Option ID : -798  
   
   
 Question ID:- 201  
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 Options:-  

.1, Option ID :- 801,  

. 2, Option ID :- 802,  

. 3, Option ID :- 803,  

. 4, Option ID :- 804,  

 Answer Given:- 3, Option ID : -803  
   
   
 Question ID:- 202  

   

 Options:-  

.1, Option ID :- 805,  

. 2, Option ID :- 806,  

. 3, Option ID :- 807,  

. 4, Option ID :- 808,  

 Answer Given:- 4, Option ID : -808  
   
   
 Question ID:- 203  

   

 Options:-  

.1, Option ID :- 809,  

. 2, Option ID :- 810,  

. 3, Option ID :- 811,  

. 4, Option ID :- 812,  

 Answer Given:- 4, Option ID : -812  
   
   
 Question ID:- 204  

PinRinsld 3 oqf^KicjMch '?T n̂ T̂elT ^f :

(1)

(2) =bl^ <l
(3) Wf
(4) WU

‘ OJS'* ’ RicilHI«ft t :

(1) dlPfceb
(2) HlVuRdi
(3) HNIdl
(4) HKellRb=h

(1) ?rftr
(2) Tf%3T

(3) wfe;

(4) 3T%

https://applink.adda247.com/d/XhqWf9lSap
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 Options:-  

.1, Option ID :- 813,  

. 2, Option ID :- 814,  

. 3, Option ID :- 815,  

. 4, Option ID :- 816,  

 Answer Given:- 3, Option ID : -815  
   
   
 Question ID:- 205  

   

 Options:-  

.1, Option ID :- 817,  

. 2, Option ID :- 818,  

. 3, Option ID :- 819,  

. 4, Option ID :- 820,  

 Answer Given:- 4, Option ID : -820  
   
   
 Question ID:- 206  

   

 Options:-  

.1, Option ID :- 821,  

. 2, Option ID :- 822,  

. 3, Option ID :- 823,  

. 4, Option ID :- 824,  

 Answer Given:- 1, Option ID : -821  
   
   
 Question ID:- 207  

‘ 1? :

(1) W1 F̂T

(2) •HHIfl T̂

(3) RRRT T̂

(4) ^^TR*? 'HHI’H T̂

W Rffa R̂TT ?T^^t :

(1) ^5Pf

(2) derfh
(3) SgK

(4) 'llfd'*)

PinfeiRaci if ^t :

(1) ^(2) #5fT

(3) f̂eT
(4) f̂acT

https://applink.adda247.com/d/XhqWf9lSap
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 Options:-  

.1, Option ID :- 825,  

. 2, Option ID :- 826,  

. 3, Option ID :- 827,  

. 4, Option ID :- 828,  

 Answer Given:- 4, Option ID : -828  
   
   
 Question ID:- 208  

   

 Options:-  

.1, Option ID :- 829,  

. 2, Option ID :- 830,  

. 3, Option ID :- 831,  

. 4, Option ID :- 832,  

 Answer Given:- 1, Option ID : -829  
   
   
 Question ID:- 209  

   

 Options:-  

.1, Option ID :- 833,  

. 2, Option ID :- 834,  

. 3, Option ID :- 835,  

. 4, Option ID :- 836,  

 Answer Given:- 3, Option ID : -835  
   
   
 Question ID:- 210  

*¥ dcHH-rl^ra 3|*Rld ^p? t :

(1) WT-^M
(2)
(3) r̂ft-^R

(4) aite-ffs

PIHFEIRAD if T^STf f
(1) did

'
di

(2) srfa
(3) arm
(4)

‘ <H\cSI fd<9Ml ’ JjSI'A ^dldi 34^ %
(1) -dlelldP) d^dl

(2) Pd (old I

(3) tim\

(4) Rt^T TR 5dd) K ^T3T

https://applink.adda247.com/d/XhqWf9lSap
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 Options:-  

.1, Option ID :- 837,  

. 2, Option ID :- 838,  

. 3, Option ID :- 839,  

. 4, Option ID :- 840,  

 Answer Given:- 1, Option ID : -837  
   
 Subject : GKCA_Q31-Q50_TGTWE  
   
   
 Question ID:- 211  

   

 Options:-  

.1, Option ID :- 841,  

. 2, Option ID :- 842,  

. 3, Option ID :- 843,  

. 4, Option ID :- 844,  

 Answer Given:- 4, Option ID : -844  
   
   
 Question ID:- 212  
   

fHHrdfisM 3 cfM^ :

(1) ^IWT

(2) ^TWJ^
(3) fww
(4) FI-HHf

What is 'Vidyanjali' launched by the government of India in September 2021 ?
(1) Integrated scheme for school education from pre-school to class XII
(2) A portal enabling community volunteers to interact with schools
(3) Foundational literacy programme
(4) Platform to access study material for visually impaired students

WcT -H <cbK gKT RHCI^<, 2021 *¥^ "Hf * fatlMfd ’ =RTT t?
(1) ^^TT-XII cT̂ F^jet fWT % fal* 'Mil'll

(2) FFJgR fid'll gTFT FT HK M̂R'+I-Î RTT v̂Ff^FTP T̂ «RFl M̂T HUCI
(3) FTf^TFdT chl4sKH

(4) %%Q; 3R2PFT •HIMifl F°RTFT '5^ krld'+iT^

What was the budgeted expenditure of the central and state governments combined on the health
sector in India in 2021-22 ?
(1) 2.1% of the GDP
(2) 3.1% of the GDP
(3) 3.8% of the GDP
(4) 4.8% of the GDP

https://applink.adda247.com/d/XhqWf9lSap
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 Options:-  

.1, Option ID :- 845,  

. 2, Option ID :- 846,  

. 3, Option ID :- 847,  

. 4, Option ID :- 848,  

 Answer Given:- 1, Option ID : -845  
   
   
 Question ID:- 213  

   

 Options:-  

.1, Option ID :- 849,  

. 2, Option ID :- 850,  

. 3, Option ID :- 851,  

. 4, Option ID :- 852,  

 Answer Given:- 1, Option ID : -849  
   
   
 Question ID:- 214  
   

^2021-22 *¥ 'iTK<T xp ^f fHcll=b< oqq fad'll ®TT ?
(1) ^T 2.1%

(2) q> T 3.1%

(3) ^qt -ap[ 3.8%

(4) =PT 4.8%

According to Indian Constitution, reasonable restrications can be imposed on the exercise of the
Fundamental Right to "assemble peaceably and without arms" in the interest of which of the
following ?

(1) Public order
(2) Defamation
(3) Incitement to an offence
(4) Morality

’HKdVd % 3TJRR, fdHfdftsId ^ f̂ FI% f^cT 3 ‘ iflifd^4di «fk •H^dd ’ % TJef 3Tf̂ R
3PTpT RT ^Rfdijdd cPTRI *TT FRFKTT f ?
(1) oq ^ T̂f

(2)
(3) 3PRT^-^R

(4) 3fd=bdl

Who was 'Dolly'- the first mammal to have been successfully cloned from an adult cell ?
(1) A monkey
(2) A sheep
(3) A dog
(4) A pig

https://applink.adda247.com/d/XhqWf9lSap
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 Options:-  

.1, Option ID :- 853,  

. 2, Option ID :- 854,  

. 3, Option ID :- 855,  

. 4, Option ID :- 856,  

 Answer Given:- 2, Option ID : -854  
   
   
 Question ID:- 215  

   

 Options:-  

.1, Option ID :- 857,  

. 2, Option ID :- 858,  

. 3, Option ID :- 859,  

. 4, Option ID :- 860,  

 Answer Given:- 4, Option ID : -860  
   
   
 Question ID:- 216  
   

‘^TefT «rr ?
(1)
(2) T& SS
(3) F=F
(4) F*WK

What was 'Operation Flood', which was started in 1970 in india ?
(1) Pan-Indian aforestation programme inspired by the Chipko Movement
(2) Nickname for the Five-Year Plan emphasizing on big dams
(3) Anti-displacement forum created by the coastal fishing communities
(4) Rural Development programme organizing milk cooperatives

FKd if ^4 1970 if FJT* %FT TRT ‘3TH^H FcT?’ T̂T STT ?
(1) r-lMchl 34<[<rH it FT FTTdfa cn(|i|U| chl4sFM

(2) Fl4f FT FeT eft FTeft FFTFfa FDHT FT <sMdlM

(3) cfZfa F|3TRT £TTf ®RFTT FTT fFTFFRTP-fl FF

(4) M64dftdl3tf Fit TFlfcid F f̂t FcF TTFTW fa =bRH =hl4sKH

Who was the first women recipient of "Bharat Ratna" in India ?
(1) Aruna Asaf Ali
(2) Mother Teresa
(3) Indira Gandhi
(4) M.S. Subbulakshmi

https://applink.adda247.com/d/XhqWf9lSap
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 Options:-  

.1, Option ID :- 861,  

. 2, Option ID :- 862,  

. 3, Option ID :- 863,  

. 4, Option ID :- 864,  

 Answer Given:- 4, Option ID : -864  
   
   
 Question ID:- 217  

   

 Options:-  

.1, Option ID :- 865,  

. 2, Option ID :- 866,  

. 3, Option ID :- 867,  

. 4, Option ID :- 868,  

 Answer Given:- 3, Option ID : -867  
   
   
 Question ID:- 218  
   

*FRcT 3 * TTCd Tel ’ RTRT T̂eft H6dl HP$dl ?̂R sft ?
(1) ST T̂T 3HI ^H *+> 3iefl
(2) PtPm
(3) *M
(4) TR-TR. ^aMId^Rt

Which among the following will not be a mitigation technique to manage landslides ?
(1) Hazard mapping to locate areas prone to landslides
(2) Increase in vegetation cover to arrest rocks and debris
(3) Removal of retention walls to allow smooth exit of rocks and debris downward
(4) Surface drainage control to check the movement of debris and rocks along with rain water

and spring flows

PlHPdP̂ d R" Tf 'q-'HslC'l 'il ^ d =bdl =b dlff f?TTf ?
(1) ^-HsIdH TO vFTFl dYlsIH HHfd3ul

(2) dgl'il 3|R Tfc# % PrfT cH^Pd aTSRT

(3) dgldi 3pR ^ F̂>P 3TR STRTHP iP *TFl 31c[fRR ^^dMl

(4) f̂vl 3p(T % RHt % WIT % UTO 3pR dgHl 'Yt 3TTqMT?P TfaFl % <HHd6d

fWI

Which of the following was incorporated into the United Kingdom in 1801 after a failed revolt led
by Wolfe Tone ?
(1) Scotland
(2) Ireland
(3) Wales
(4) Oxford

https://applink.adda247.com/d/XhqWf9lSap
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 Options:-  

.1, Option ID :- 869,  

. 2, Option ID :- 870,  

. 3, Option ID :- 871,  

. 4, Option ID :- 872,  

 Answer Given:- 3, Option ID : -871  
   
   
 Question ID:- 219  

   

 Options:-  

.1, Option ID :- 873,  

. 2, Option ID :- 874,  

. 3, Option ID :- 875,  

. 4, Option ID :- 876,  

 Answer Given:- 1, Option ID : -873  
   
   
 Question ID:- 220  
   

qV'+i zH % 37^nr>ef % RFZ ^ 1801*¥, PinfciHad *f it fe>it ^i^-s P4> J >SH *¥ ynfror

fWW «fT ?
(1)
(2) 3TPR#5

(3)
(4) 3TN*FT^

Which of the following films was based on a short urdu story written by Ismat Chughtai and was
set in the backdrop of the partition of India ?
(1) GARAM HAWA (1973)
(2) KALYUG (1981)
(3) SAAT HINDUSTANI (1969)
(4) NAYA DAUR (1945)

TO % fW3H =fft qr RZt fFRl ^Idl^ 'SRI RlRsld ^Wit RT STTRlficr tWf
PHHlefRsId 3it Rt t ?
(1) R*f (1973)
(2) WffT (1981)
(3) RRf (1969)
(4) ZRT (1945)

Which of the following pairs regarding the names of the UN Secretary Generals and their countries
is incorrectly matched ?
(1) Dag Hammarskjold
(2) U Thant
(3) Kofi Annan
(4) Ban Ki-moon

Austria
Burma (Myanmar)
Ghana
South Korea

https://applink.adda247.com/d/XhqWf9lSap
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 Options:-  

.1, Option ID :- 877,  

. 2, Option ID :- 878,  

. 3, Option ID :- 879,  

. 4, Option ID :- 880,  

 Answer Given:- 4, Option ID : -880  
   
   
 Question ID:- 221  

   

 Options:-  

.1, Option ID :- 881,  

. 2, Option ID :- 882,  

. 3, Option ID :- 883,  

. 4, Option ID :- 884,  

*j =̂k1 % "301 PlHiclftsld *¥ ^^Ff ^ T̂ Pl4 fadM % T̂I
Wt?
(1) F̂T $H <̂ s*lV-S snfepp

®Flf ( «4HK )(2) \ «rfe
(3) 3F=TH

(4)

Midi

^r°T efitftqi

Consider the following statements about India's nuclear policy :
(a) India started to invest in nuclear programmes in late 1940s under the leadership of Homi

Bhabha.
(b) The Department of Defence Production and the Department of Defence Supplies were

established in the decade of 1970s after the war with Pakistan.
(c) India has not signed the Comprehensive Test Ban Treaty.
Choose the correct answer from the codes below :
(1) Only (a)
(2) Only (c)
(3) Only (a) and (c)
(4) Only (b) and (c)

*iRci H <HI^ "rtfo % P Pinfin Had^pfl fd -dK d-OPdij, i

(a) R̂rl % 3 1940 % 3 WTFJ =bl4<*H 3
(b) Mlf =b*dld ^^ 1970 %^f =h TSU <kdldd 1%'HPT 3?P 3TPjf4 ^WPRT =Rt I

(c) RRcT % odNdi WPJ RttSFT RpRR Tffa RT 1PRIT3R fdTR f |

TT4 1^1 RR =}iZ^Rift TtR F̂T ''cPPT dilfaUl I

(1) %ReT (a)
(2) %Rel (c)
(3) (a) (C)
(4) %c^(b) 3#C (c)

"^ fRiRTI

https://applink.adda247.com/d/XhqWf9lSap
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 Answer Given:- 4, Option ID : -884  
   
   
 Question ID:- 222  

   

 Options:-  

.1, Option ID :- 885,  

. 2, Option ID :- 886,  

. 3, Option ID :- 887,  

. 4, Option ID :- 888,  

 Answer Given:- 2, Option ID : -886  
   
   
 Question ID:- 223  
   

Consider the following statements regarding Indian music :
(a) Purandara Dasa is known as the father of the Hindustani genre of Indian classical music.

(b) M.SSubbulakshmi was associated with Carnatic music and was the first musician ever to be
given the Bharat Ratna.

(c) Begum Akhtar was associated with Hindustani classical music.

Choose the correct answer from the codes below :
(1) only (a)
(2) only (b) and (c)
(3) only (a) and (b)
(4) only (b)

’HKdl'H ^ PinRrtRad fa -dK I

(a) T̂R#R RRTpT =Ft
(b) ^ ^MpTcf 1? Mlkl dlvfl M ĉil RRPnjt I

(c) P̂TR 3H9CR f^Trfpff T̂R P̂t TRTpT Tf RSTpRT f |

^ 'JTR cblPrm, I

(1) (a)
(2) (b) 3?R (c)
(3) %cRt (a) 3?R (b)
(4) (b)

'sHeh HMI l̂ldl % I

Who among the following has been awarded a one-time Sangeet Natak Akademi Amrit Award
under Azadi Ka Amrit Mahostav (AKAM) in the field of Performing Arts ?
(1) Yapchung Kazi
(2) B.M. Reddy
(3) Sartaj Narain Mathur
(4) Gopal Chandra Biswas

https://applink.adda247.com/d/XhqWf9lSap
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 Options:-  

.1, Option ID :- 889,  

. 2, Option ID :- 890,  

. 3, Option ID :- 891,  

. 4, Option ID :- 892,  

 Answer Given:- 1, Option ID : -889  
   
   
 Question ID:- 224  

   

 Options:-  

.1, Option ID :- 893,  

. 2, Option ID :- 894,  

. 3, Option ID :- 895,  

. 4, Option ID :- 896,  

 Answer Given:- 2, Option ID : -894  

PinfclHad "£f ^ (Performing Arts) % tf 3HMI<{| îT 3PJ?I (AKAM) % 3ppfa
Q^T -HJfln -ll <i=b 3T*J?T 4<*<fck TRT t?
(1) *114^1

(2) ^.T&.
(3) TKcfR THPRI TT^T

(4) RtW^f^m

Which of the following aspect(s) is/are correct about secondary memory ?
(a) Volatile
(b) Non-Volatile
(c) Permanent Storage of data
(d) Temporary Storage of data
Choose the correct answer from the codes given below :
(1) only (a) and (c) are correct
(2) only (a) and (d) are correct
(3) only (b) and (c) are correct
(4) only (b) and (d) are correct

iRtfl % WT 3^ WeJ.Wtt/t ?
(a) cltelcil^cr)

(b)

(c) '5RT WPft
(d) Sldl lift'd

(1) %3TR (a) 3^(c) t̂f I

(2) (a) 3fR (d)^11
(3) %̂ R (b) 3fa (c) t̂fl
(4) % T̂ (b) 3fP (d)^f I

:

https://applink.adda247.com/d/XhqWf9lSap
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 Question ID:- 225  

   

 Options:-  

.1, Option ID :- 897,  

. 2, Option ID :- 898,  

. 3, Option ID :- 899,  

. 4, Option ID :- 900,  

 Answer Given:- 1, Option ID : -897  
   
   
 Question ID:- 226  
   

Where was the UN Biodiversity Conference held in December, 2022 ?
(1) Montreal, Canada
(2) Paris, France
(3) New York, USA
(4) Seoul, South Korea

(1) =MISI

(2) 3FRT

(3)
(4) PH-Mld, c^lRill

Match the Countries given in List - I with their Rank in Global Food Security Index 2022 in
List - n.

List -1 List - II
(i) 1
(ii) 68
(Hi) 80
(iv) 25

Select the correct answer using the codes given below :

(a) Finland
(b) India
(c) Bangladesh
(d) China

(1) (a)-(i), (b)-(H), (c)-(iH), (d)-(iv)
(2) (a)-(ii), (b)-(ui), (c)-(iv), (d)-(i)
(3) (a)-(Hi), (b)-(iv), (c)-(i), (d)-(H)
(4) (a)-(iv), (b)-(i), (c)-(H), (d)-(ui)

https://applink.adda247.com/d/XhqWf9lSap
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 Options:-  

.1, Option ID :- 901,  

. 2, Option ID :- 902,  

. 3, Option ID :- 903,  

. 4, Option ID :- 904,  

 Answer Given:- 1, Option ID : -901  
   
   
 Question ID:- 227  

   

 Options:-  

.1, Option ID :- 905,  

. 2, Option ID :- 906,  

. 3, Option ID :- 907,  

- I fti m, ^?tf TT# - II f^TT TTIT 31*«* ^|chi=b, 20223 T̂% Wi % WI fWFT
1< I

^a t - i

(a) n+i'i^’s
(b) w

^- 11

(i) 1

(ii) 68

(c) ^FefT^T (iii) 80

(iv) 25(d) #T

## ’R WR "3vR fT Wf TER TFT TTT I

(1) (a)-(i), (b)-(ii), (c)-(iii), (d)-(iv)
(2) (a)-(ii), (b)-(iii), (c)-(iv), (d)-(i)
(3) (a)-(iii), (b)-(iv), (c)-(i), (d)-(ii)
(4) (a)-(iv), (b)-(i), (c)-(ii), (d)-(iii)

Assertion (A) : Hormonal Stimulation is used to breed different kinds of fish in pond.
Reason (R) : There is a lack of availability of good quality fish seed due to the fact that many

fish species breed only during monsoon.
Select the correct option from the given alternatives.
(1) Botli (A) and (R) are true, and (R) explains (A).
(2) Both (A) and (R) are true, but (R) does not explain (A).
(3) (A) is true and (R) is false.
(4) (A) is false and (R) is true.

3Tfw>2FT (A) : dlelN 3 fsrf*FT wRl4l % TTSRT % fETT sintd W# TFT ‘ST#1! fTRT T̂TcTT % I

<T# (R) : fR cfSZ! % TiRTT % Weft Tft y villRl l̂T dviel RFRJT % ^RH TRRR TR# f, SfWt
4JU|C) T1| TTRl WT Tft <SHel «*RT TR $tdl % I

RR f^cbeHl ^ TT# fa =b<rH TFT RTT dftpRy I

(1) (A) (R) ## Wt f cTSTT (R), (A) Tft
(2) (A) #C (R) ## t fTFcJ (R), (A) Tft oqp^TT T# TFRT11
(3) (A) t 3ftT (R) Wcf f I

(4) (A) ReRT t 3?R (R) Wt f I

TFRTT % I

https://applink.adda247.com/d/XhqWf9lSap
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. 4, Option ID :- 908,  

 Answer Given:- 1, Option ID : -905  
   
   
 Question ID:- 228  

   

 Options:-  

.1, Option ID :- 909,  

. 2, Option ID :- 910,  

. 3, Option ID :- 911,  

. 4, Option ID :- 912,  

 Answer Given:- 3, Option ID : -911  
   
   
 Question ID:- 229  
   

Which of the following is not an outer planet ?
(1) Uranus
(2) Neptune
(3) Mars
(4) Jupiter

PinfelHsld 3 T̂TTW "Tff 1? ?
(1)
(2)
(3) TO

(4)

Consider the following statements regarding Lakshya Sen, one of the outstanding players in the
discipline of Badminton from India :
(a) He was awarded the Arjuna award in the year 2022
(b) He is the winner of Gold Medal (individual) in Commonwealth Games 2022
(c) He is the winner of Gold Medal (Team) in Commonwealth Games 2022
Choose the correct, statement/s from the codes given below :
(1) only (a)
(2) only (b) and (c)
(3) only (a) and (b)
(4) only (c)

https://applink.adda247.com/d/XhqWf9lSap
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 Options:-  

.1, Option ID :- 913,  

. 2, Option ID :- 914,  

. 3, Option ID :- 915,  

. 4, Option ID :- 916,  

 Answer Given:- 3, Option ID : -915  
   
   
 Question ID:- 230  

   

 Options:-  

.1, Option ID :- 917,  

. 2, Option ID :- 918,  

RRcf % fedifeff ^ RSR % RRR ^f PinfclHslcI =b*Hl "tR ffdK I

(a) Rl 2022 3 3R^T ^W> K W%RT W «n I

(b) R? <|tdM^d lid, 2022 f̂ wf ’’Rdi ( T̂f R̂FTcT RTRf ) fd^dl 11
(c) RH < l '>dHSd lid, 2022 W’t'T^F ( ztR ) fd^dl f I

ill fcy, dR ^ TTSR/RPRl T̂ dR3 chlf^iy, I

(1) %Rd (a)
(2) %Rd (b) (c)
(3) %Rd (a) 3?R (b)
(4) %Rd (c)

Consider the following statement/s regarding Asian Pacific Postal Union (APPU) which has its
headquarter in Bankok, Thailand.
(a) An Indian has taken the charge of Secretary General of APPU for a tenure of four years,

starting January 2023.
(b) This is only the second occasion when an Indian is leading an International organisation in

the postal sector.
Choose the correct option from the codes below :
(1) Only (a) is correct
(2) Only (b) is correct
(3) Both (a) and (b) are correct
(4) Neither (a) nor (b) is correct

yJV|4M Hl*Zd •'Jp-N'l (APPU), r̂ 1-H =hl ®lchlcb , "I" 1?, % TRR 3 PlHfdftdd diddl TI
fet'd K =blfjiy, l

(a) 'ddd'O, 2023 Tl TRT RKdld I RR RR? % fdR APPU % RgTfrfdd RT^RR RRTdT % I

(b) Rff %Rd^FRI RTdTT t dR Rkdld HlFdd ifdZT R Rdlf^ld TRT3T RiT RcJcR RFR R?T % I

RfR -f^TT T]TT Tf Rft ftdied RF>T RTR dll fd y, I

(1) %Rd (a) R?ti|l

(2) %Rd (b) R?ttl
(3) (a) RR (b) ^R) Rtf 11
(4) (a) 3fR (b) ^Rf 33^W\ RFf 11

https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap


2/23/23, 10:45 PM Response Sheet

https://kvsexam13feb23s1.cbtexam.in/Candidate/ResponseSheet.aspx?Urlval=fa871369-2971-460b-9691-98a128654623&Rollno=22042440… 24/107

. 3, Option ID :- 919,  

. 4, Option ID :- 920,  

 Answer Given:- 3, Option ID : -919  
   
 Subject : RA _Q51-Q70_TGTWE  
   
   
 Question ID:- 231  

   

 Options:-  

.1, Option ID :- 921,  

. 2, Option ID :- 922,  

. 3, Option ID :- 923,  

. 4, Option ID :- 924,  

 Answer Given:- 2, Option ID : -922  
   
   
 Question ID:- 232  

   

 Options:-  

.1, Option ID :- 925,  

Choose the missing letter cluster in the given series that follows the same logic.
IMJ, KQH, MUFCAP, EEN,

(1) GHK
(2) GIL
(3) HIK
(4) HGL

pHl ''T? cRT ^>T 3pplRT ^TRT ~£\ I

IMJ, KQH, MUFCAP, EEN,
(1) GHK
(2) GIL
(3) HIK
(4) HGL

A, B,C, D, E, F and G are the names of two gases, three solids and two liquids. B,G and D are not
solid. E and F are not gases. C is solid but A is liquid. B, F and G are not liquid. Which are the
three solids ?
(1) A, C, E
(2) A, C, F
(3) C, E, F
(4) E, F, G

'q^f %^ A, B,C, D,E,F 3faGf IB, G fl EsfaF^^fl
es ta te Aspr f i B, F 3faG^^' t i#r^(1) A, C, E
(2) A, C, F
(3) C, E, F
(4) E, F, G
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. 2, Option ID :- 926,  

. 3, Option ID :- 927,  

. 4, Option ID :- 928,  

 Answer Given:- 3, Option ID : -927  
   
   
 Question ID:- 233  

   

 Options:-  

.1, Option ID :- 929,  

. 2, Option ID :- 930,  

. 3, Option ID :- 931,  

. 4, Option ID :- 932,  

 Answer Given:- 1, Option ID : -929  
   
   
 Question ID:- 234  

A 5 item menu for lunch is to be decided from amongst five dishes P, Q, R, S and T and four
beverages W, X, Y and Z on the following conditions :
(i) P and Z here to be together
(ii) W cannot be put with Y
(iii) S and X cannot be selected together
(iv) R and T have to be together
(v) Y cannot be selected with Q
If two of the items have to be dishes what will be the lunch menu ?
(1) P Q W X Z
(2) P S X Y Z
(3) Q S X Z Y
(4) R T W X Z

•qfa P, Q, R, S T cT«TT M W, X, Y Z 33 % fall
f'lnRlRacI wf RT fpPTT '5fHT % :

(i) P Z -cilfeiJ.
(ii) W^T Y % T®1 WRT %
(iii) ssfirx t̂ wn«fR?!^n ^nRKTft
(iv) R T T3=RTP1 ^[^0.
(v) Y^1 Q%1TF2J ^TT 1̂T ycticll %

^ 5̂̂ <*i*H sff fit % ^f3R WR ^PTT ?
(1) P Q W X Z
(2) P S X Y Z
(3) Q S X Z Y
(4) R T W X Z

https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap


2/23/23, 10:45 PM Response Sheet

https://kvsexam13feb23s1.cbtexam.in/Candidate/ResponseSheet.aspx?Urlval=fa871369-2971-460b-9691-98a128654623&Rollno=22042440… 26/107

   

 Options:-  

.1, Option ID :- 933,  

. 2, Option ID :- 934,  

. 3, Option ID :- 935,  

. 4, Option ID :- 936,  

 Answer Given:- 1, Option ID : -933  
   
   
 Question ID:- 235  

   

 Options:-  

.1, Option ID :- 937,  

. 2, Option ID :- 938,  

. 3, Option ID :- 939,  

. 4, Option ID :- 940,  

 Answer Given:- 2, Option ID : -938  
   
   

A courier boy has to deliver six articles A, B, C, D, E and F. A is heavier than B. C and D are of
same weight. E is the lightest. F is heavier them A but lighter than D. Which article is the second
heaviest ?
(1) F
(2) A
(3) B
(4) D

jR'M 't BTvf A, B, C, D, E sfR F 'IIH'fc 6 BRJstf fad <ul BRBT 11 A, B Ff %|C 3?lF D
BiT C|NJH 1','h'HHh % I E RT fHf) BvB %| F, A^ % f^J D^ % I RH Fit BF§

^FKt FR& t ?
(1) F
(2) A
(3) B
(4) D

A is the mother of B and C is the son of D. D is the husband of A. B is the sister of C. How is C
related to A ?
(1) Brother
(2) Son
(3) Father
(4) Uncle

A, B RTcTl t C, D 11 D, A BiT 11 B,C Bit 11C A W FTBB t ?
(1) BT$
(2) 3*
(3) fBcTT
(4) RM
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 Question ID:- 236  

   

 Options:-  

.1, Option ID :- 941,  

. 2, Option ID :- 942,  

. 3, Option ID :- 943,  

. 4, Option ID :- 944,  

 Answer Given:- 3, Option ID : -943  
   
   
 Question ID:- 237  
   

Ram, Sheela, Karim and Raju are playing carrom board game. 'Ram and Karim' and 'Sheela and
Raju' are partners. Raju is sitting to the right of Karim. The face of Karim is towards East. Find
the direction that Sheela is facing.
(1) North
(2) East
(3) West
(4) South

TFT, ?ftcTT, 3?(TTF^^<H4U 'fa T|f I ‘TFT 3fR ’3RT ‘yffcff affTTF ’̂ Hint 'll TF^% 3Tk 3̂111 RiT 3fR f I f̂fTTT RiT^%Tf f^T 31?
(1) 3TTT

(2) ¥
(3)
(4)

The question has a statement followed by two courses of action numbered (I) and (II). It is assumed
that everything in a statement is true, then decide which of the given courses of action logically
follow(s) for pursuing ?
Statement : Deficiency diseases in early childhood years have life-long effect on a person's

health.
Courses of Action : (I) Pregnant ladies and mothers of young children should be made aware

of balanced diet.
(II) Fast food outlet should be banned near and around primary schools.

(1) Only (I) follows
(2) Only (II) follows
(3) Both (I) and (II) follow
(4) Neither (I) nor (II) follows

https://applink.adda247.com/d/XhqWf9lSap
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 Options:-  

.1, Option ID :- 945,  

. 2, Option ID :- 946,  

. 3, Option ID :- 947,  

. 4, Option ID :- 948,  

 Answer Given:- 1, Option ID : -945  
   
   
 Question ID:- 238  

   

 Options:-  

.1, Option ID :- 949,  

. 2, Option ID :- 950,  

. 3, Option ID :- 951,  

. 4, Option ID :- 952,  

 Answer Given:- 3, Option ID : -951  
   
   
 Question ID:- 239  

3TR T33» TRTf ^ (I) 3fr[ (II) Rf f I^ T̂i? PH feTRT % «̂R^
®TRT

^J8R :

chilli - (I) :

cFTfolf - (II) :

(1) %PeT (I)^ «ff ĉft f
(2) =b<ad (II) «IT H'+idl 1?

(3) (I) afo (II) ^W TPTcfT t
(4) t

Tf# % eft Pf PMR %^Pft =hl^ctl§4f P iP pftr Pt cbl^RI^ dlPft=b^^ F̂ft *TT P<*> di f/f ?
3}RfP3> PTcRTPPlT *f ebP-lftl <JcHH iPft TT oqpW % TRTPP PT 'jfhd PT PPTP P? <TI 11

P f̂acft Rf^Riarf 3pR^T «s||<rl <=hl pft Pfflaft pft H^icld 3WR % pft *¥ «*dl <4 l PIHI PifftiJ, 1

PPlfPPT fafcllelftf % 3TTPPTP P>R2 TJTS PTf gP>ld! pft MRHIPCT PR fpPT PTFJT Plfe^ I

In a certain code language 'AWAKEN' is written as 'CZCNGQ' then how will 'KITTEN' be written
in that language ?
(1) NKWGP
(2) MKWVGQ
(3) MLVWGQ
(4) NLWVGQ

Pfc PTPT Tf 'AWAKEN' pft 'CZCNGQ'% 3 IpRPT PM t ft) Tfft PTPT P 'KITTEN' pft fpRT

PTR filial 'Jll^ll ?
(1) NKWGP
(2) MKWVGQ
(3) MLVWGQ
(4) NLWVGQ

https://applink.adda247.com/d/XhqWf9lSap
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 Options:-  

.1, Option ID :- 953,  

. 2, Option ID :- 954,  

. 3, Option ID :- 955,  

. 4, Option ID :- 956,  

 Answer Given:- 3, Option ID : -955  
   
   
 Question ID:- 240  
   

If 'M $N' means 'N is husband of M', 'M A N' means 'M is father of 'N, and 'M % N' means 'M is
son of N', then how is A related to D in the given statement. A % B $ C A D ?
(1) Son
(2) Father
(3) Brother
(4) Uncle

Ffc 'MON' RF |%'N', 'M' RF 'qfo t, 'M A N' FF |% 'M', 'N' FF fRIT t cM 'M % N' RF 3flf
t fa 'M', 'N' RT^t, cTl fa* Fir A % B O C A D^t 'A' Î 'D' 3 R F T T R T O t?
(1) ^(2) falT
(3)
(4) RM

The question is given below followed by two statements (I) and (II) , each containing some
information. Decide which of tire statements is/are sufficient to answer the question.
Which item amongst U, V, W, X and Y is the heaviest ?
Statements (I) : U is heavier than V but Y is not the heaviest.
Statements (II) : W is heavier than U but X is not the heaviest.
(1) The statement (I) alone is sufficient to answer the question.

(2) The statement (II) alone is sufficient to answer the question.

(3) Both the statements (I) and (II) together are necessary to answer the question.
(4) Both the statements (I) and (II) together are not sufficient to answer the question.

Rfa RTF fall W f 1fafa Rl Ri*R (I) 3?R (II) faT rjlT f 3 'JII-IFIKI Rt 11fafa
stOPs! fa RIR TfT/^f R7«R FR RF RTR

U, V, W, X Y 33 R?R Rt^ 3Tfe RRRRR t?
RTSR (I) : U, V Ft stfRRT t fag Y FRR RRFRR Rff 11
^j2R (II) : W, U Tf 3lfRR7 t fag X FRR 3?fRRi RSRgR R?f 11
(1) R> 2R (I) 3T%Fl F?F RF RTR^ H -nfa t?
(2) (II) 3T?R RF TTR^% Rut RRfa %
(3) Ri2R (I) 3?R (II) RRRTTR, F?R RF TTR % fair 3RRTRR7 1?

(4) RT8R (I) #( (II) RRRTTR, 3?RR RF <5xR^% fag RRfa R?f f

^% faTJRRfat/f ?
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 Options:-  

.1, Option ID :- 957,  

. 2, Option ID :- 958,  

. 3, Option ID :- 959,  

. 4, Option ID :- 960,  

 Answer Given:- 3, Option ID : -959  
   
   
 Question ID:- 241  

   

 Options:-  

.1, Option ID :- 961,  

. 2, Option ID :- 962,  

. 3, Option ID :- 963,  

. 4, Option ID :- 964,  

 Answer Given:- 2, Option ID : -962  
   
   
 Question ID:- 242  

Three statements are followed by two conclusions numbered (I) and ( II) . Find out which
conclusion(s) is/are true based on die given statements.
Statements : P < B

G = T P
Q B

Conclusions : (I) G < P
(II) Q > P

(1) Only (I) is true
(2) Only (II) is true
(3) Both (I) and (II) are true
(4) Neither (I) nor (II) is true

(i) sfn: (ii) 11 w eFlPsm. %^^ % awm^ WFI PHM4

cFSR : P < B
G = T P
Q B

: (I) G < P
(II) Q > P

(1) %cfcT (I) t
(2) %*?c* (n) wt t
(3) (i) (ii) cfrtr^t
(4) ^Ffi r̂ r̂^ t

https://applink.adda247.com/d/XhqWf9lSap
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 Options:-  

.1, Option ID :- 965,  

. 2, Option ID :- 966,  

. 3, Option ID :- 967,  

. 4, Option ID :- 968,  

 Answer Given:- 4, Option ID : -968  
   
   
 Question ID:- 243  

   

 Options:-  

Six girls M, N, S, R, P and T are sitting around the comers of a hexagonal table facing towards the
centre. 'M' is not sitting adjacent to N or S, R is not sitting adjacent to S or P, N and S are adjacent.
T is in the middle of R and S. Who is sitting opposite to P ?
(1) M
(2) N
(3) R
(4) T

W cTffePTT M, N, S, R, P T^ % RMKI % 3TR IpT ^f I 'M', 'N' 3PTcfr 'S'% WTfa M t; 'R', 'S' 318̂ 1T' %Trfft t; 'N' 3?k 'S'
f I T'/R' cT«n 'S'%#3 311'F % Wtf t?
(1) M
(2) N
(3) R
(4) T

Two statements are given below and they are labelled as Assertion (A) and Reason (R) .

Assertion (A) : Curriculum is designed according to age of the child.

Reason (R) :
Select the correct answer with the help of code.

(1) Both (A) and (R) are true and (R) is correct explanation of (A)
(2) Both (A) and (R) are true but (R) is not the correct explanation of (A)
(3) (A) is true but (R) is false
(4) (A) is false but (R) is true

Readiness to learn depends on the development of child.

t fsRT srfwpi (A) cPIT TT (R) f^TT W 11
3TftraT2R (A) : W&fi 37PJ % 3Tg*TR WH 11
<T& (R) : -H7<S(7 cRWT «ilcrJ =b % fTTTRT^ =b<d7 % I

TTffPTcfT k 3TH :

(1) (A) 3fa (R), Wt f cT«n (R), (A)^ T̂T̂ U|
(2) (A) 3fc (R), f (R), (A) Wf T̂l̂ TT T̂ff t
(3) (A) F# t kfuj (R) 7Tvf?f t
(4) (A) 7T?RT 11%(R)^t
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.1, Option ID :- 969,  

. 2, Option ID :- 970,  

. 3, Option ID :- 971,  

. 4, Option ID :- 972,  

 Answer Given:- 1, Option ID : -969  
   
   
 Question ID:- 244  

   

 Options:-  

.1, Option ID :- 973,  

. 2, Option ID :- 974,  

. 3, Option ID :- 975,  

. 4, Option ID :- 976,  

 Answer Given:- 1, Option ID : -973  
   
   
 Question ID:- 245  
   

From the given alternative words, select the word which cannot be formed using the letters of the
given word.
AUTOMATION
(1) OUTING
(2) MOTION
(3) TOMATO
(4) MOON

HHi facbrHl Ff ^ childly, FT % SfSiTCl TTFT ®MNI^FT3KTT
t ?
AUTOMATION
(1) OUTING
(2) MOTION
(3) TOMATO
(4) MOON

Seven teachers A, B, C, D, E, F and G attended seminars on seven different days of the week
starting from Sunday but not necessarily in the same order. Five teachers attend seminar between
E and A who attend the seminar on the days starting with 'S'. 'G' attends the seminar after 'F' but
before 'D'. There are as many teachers attending the seminar before 'B' as after 'C'. 'A' doesn't
attend the seminar on Sunday. Who attends the seminar on Thursday ?
(1) B
(2) C
(3) D
(4) F
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 Options:-  

.1, Option ID :- 977,  

. 2, Option ID :- 978,  

. 3, Option ID :- 979,  

. 4, Option ID :- 980,  

 Answer Given:- 2, Option ID : -978  
   
   
 Question ID:- 246  

   

 Options:-  

.1, Option ID :- 981,  

. 2, Option ID :- 982,  

. 3, Option ID :- 983,  

. 4, Option ID :- 984,  

 Answer Given:- 3, Option ID : -983  
   
   
 Question ID:- 247  

FfR 3MW A, B, C, D, E, F 3?R G <133K FI Fft ^Tel FP<1I 6 % FTRT 3RR—3JFR f^Rl HI, FFTf sfR H
HFp PjP*-MK HRRrTt IHTH 3}£2JTW 'E'3ptF 'A' FtfRTRH HR^!? 'S'^ Ft Î RFl pR PlP-HK

Pf HR Hrf f I 'G', 'F' % IHKJ 'D7 Fl itfRTR Pf HR ^cTT “f I 'B' ^ HlRf FR^ ^ 3TRN3, P|p-HK Pf HR
Ft% f fpRp 1% 'C % HR HR^f I 'A' % <P33K Hp PlPmK Pf HR HlP fFRT I JJ)<?3K ^ PlfHHk Pi fHRlP HR
fFRI ?
(1) B
(2) C
(3) D
(4) F

A group of alphabet are given, with each being assigned a number. Select the combination of
numbers so that tire letters arranged accordingly will form a meaningful word.
A L R U N
1 2 3 4 5
(1) 3, 2,1, 5, 4
(2) 5, 2, 3, 4,1
(3) 2, 4, 5,1, 3
(4) 4,1, 3, 5, 2

HNI TRT FRO? pRT HHT H Ps1«A Fl y <P =b % PrR HR H I FFf FIOMI FFp? R7
HHH P̂lPjIM, cfTf% -dFlHi 3FjFTR OMHPFHH fHR 1R HR? Ff HR FTTHR HTR 3R3I "FT FT% I

A L R U N
1 2 3 4 5
(1) 3, 2, 1, 5, 4
(2) 5, 2, 3, 4,1
(3) 2, 4, 5,1, 3
(4) 4,1, 3, 5, 2
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 Options:-  

.1, Option ID :- 985,  

. 2, Option ID :- 986,  

. 3, Option ID :- 987,  

. 4, Option ID :- 988,  

 Answer Given:- 4, Option ID : -988  
   
   
 Question ID:- 248  
   

The question has two statements followed by two conclusions numbered (I) and (II) . You have to
consider the statements to be true even if they seem to be at variance from commonly known facts
and decide which of the given conclusions logically follow(s) from the given statements.
Statements : Some poems are songs

All songs are melody
Conclusions : (I) Some poems are melody

( II) Some melodies are songs
(1) Only conclusion (I) follows
(2) Only conclusion (II) follows
(3) Either conclusion (I) or (II) follows
(4) Both conclusions (I) and (II) follow

iHl eft TTf eft Fitch4 (I) 3ffl (II) f^TT rpr f | ^HIHI t f4i TT Hlft t
^ TTHTF̂ TcT: cTŜ fl 3 f*FT ift H sft I 3T3 3TR Fl^-M chlP̂ IM,% TT Tl cllPPcb 1*̂ 1^FH^M Fl =hddl/Fl =hvtcl %/% ?

^5 chfcuil^7!!^ fl:

Tki11
(I) =hPt <ni< TH|r i

(ii)
(1) %3cT fdNitf (I) Fl =hddi 1?
(2) Fitch 4 (II) Pl =hdc1l f
(3) 1w4 (I) 3181̂ 1 (II) Pfchcrtcfl t
(4) Fit=h4 (i) sfa (n) 4Fft Fi=hd41

:

If in a certain code language 'fun is bad' is written as '123' and 'bad is wrong' is written as '431',
and 'fun is wrong' is written as '214' then what is the code for word 'bad' in this
language ?
(1) 1
(2) 2
(3) 3
(4) 4
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 Options:-  

.1, Option ID :- 989,  

. 2, Option ID :- 990,  

. 3, Option ID :- 991,  

. 4, Option ID :- 992,  

 Answer Given:- 3, Option ID : -991  
   
   
 Question ID:- 249  

   

 Options:-  

.1, Option ID :- 993,  

. 2, Option ID :- 994,  

. 3, Option ID :- 995,  

. 4, Option ID :- 996,  

 Answer Given:- 1, Option ID : -993  
   

^Z if 'fun is bad' '123'% if Rri<3l T̂TcfT % 3^1'bad is wrong' '431'% if rT^n
'fun is wrong' '214'% if fdtsll ^TTrfT % cTt f̂TU if 'bad' T̂T ^Z %?
(1) 1
(2) 2
(3) 3
(4) 4

In the following question two positions of a same dice are given. Find the number of dots at the
face opposite to the face having five dots.

]̂\*
• • f

(1) 1
(2) 2
(3) 4
(4) 6

PinfciRaci wi 3 W eft fssjfrrqf ^f i^ % fanOn îvl Rl f^srf qft

?TRT I

• • y

(1) i
(2) 2
(3) 4
(4) 6
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 Question ID:- 250  
   

Select the Venn diagram that best represents the relationship between the following set of classes.
Singers, Dancers, Musicians
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 Options:-  

.1, Option ID :- 997,  

. 2, Option ID :- 998,  

. 3, Option ID :- 999,  

. 4, Option ID :- 1000,  

 Answer Given:- 2, Option ID : -998  
   
 Subject : CL_Q71-Q80_TGTWE  
   
   
 Question ID:- 251  
   

^ PinRinan n̂f % TPJI? % r̂ -HcilTiH wt ^ îlm 11
JIN=b, •pfe), 'HJild=hK

A smaller version of an image is known as :
(1) Clipart
(2) Portable network graphic
(3) Thumbnail
(4) Bitmap

(l) fewsui

(2) HI2®ICI ^^4) mfW
(3)
(4)
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 Options:-  

.1, Option ID :- 1001,  

. 2, Option ID :- 1002,  

. 3, Option ID :- 1003,  

. 4, Option ID :- 1004,  

 Answer Given:- 4, Option ID : -1004  
   
   
 Question ID:- 252  

   

 Options:-  

.1, Option ID :- 1005,  

. 2, Option ID :- 1006,  

. 3, Option ID :- 1007,  

. 4, Option ID :- 1008,  

 Answer Given:- 3, Option ID : -1007  
   
   
 Question ID:- 253  

   

 Options:-  

.1, Option ID :- 1009,  

. 2, Option ID :- 1010,  

The term morphing with respect to animation means :
(1) Changing position within a screen
(2) Changing color of an image
(3) Changing shape gradually from one to another
(4) Changing effects and tints of an image

^ CFT f :

(1) fsbli ®ic;eHl

(2) r=b-Hl ipfcl % =t>d< ®l <eHl

(3) 3TRTR «KdHI

(4) fsZ =Ft ®l <cHl

Which of the following is an example of an audio file ?
(1) music.png
(2) music.avi
(3) music.mp3
(4) music.gif

PinfeiRan Tf TfT ^ddisui t?
(1) music.png
(2) music.avi
(3) music.mp3
(4) music.gif
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. 3, Option ID :- 1011,  

. 4, Option ID :- 1012,  

 Answer Given:- 3, Option ID : -1011  
   
   
 Question ID:- 254  

   

 Options:-  

.1, Option ID :- 1013,  

. 2, Option ID :- 1014,  

. 3, Option ID :- 1015,  

. 4, Option ID :- 1016,  

 Answer Given:- 2, Option ID : -1014  
   
   
 Question ID:- 255  

   

 Options:-  

.1, Option ID :- 1017,  

. 2, Option ID :- 1018,  

. 3, Option ID :- 1019,  

. 4, Option ID :- 1020,  

 Answer Given:- 4, Option ID : -1020  
   
   

Which of the following is the correct sequence ?
(1) 25 KB > 12 MB > 10 GB > 20 PB
(2) 20 TB > 10 GB > 12 MB > 25 KB
(3) 10 GB > 12 MB > 20 TB > 25 KB
(4) 10 PB > 10 GB > 10 TB > 10 MB

p-IHielfad 3 Tf 3Tf Wt t ?
(1) 25 KB > 12 MB > 10 GB > 20 PB
(2) 20 TB > 10 GB > 12 MB > 25 KB
(3) 10 GB > 12 MB > 20 TB > 25 KB
(4) 10 PB > 10 GB > 10 TB > 10 MB

Which of the following software cannot be used to play audio files ?
(1) VLC media player
(2) Windows media player
(3) Kodi media center
(4) GIMP

'TTSrl ^elM 3 Biff BfT TT3BTT t ?
(1) Byl Tft Hir̂ l RpP

(2) RgR HlfsBI RPR
(3) BiRf HIPSBI TR*
(4) R 3^ Bt
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 Question ID:- 256  

   

 Options:-  

.1, Option ID :- 1021,  

. 2, Option ID :- 1022,  

. 3, Option ID :- 1023,  

. 4, Option ID :- 1024,  

 Answer Given:- 3, Option ID : -1023  
   
   
 Question ID:- 257  

   

 Options:-  

.1, Option ID :- 1025,  

. 2, Option ID :- 1026,  

. 3, Option ID :- 1027,  

. 4, Option ID :- 1028,  

 Answer Given:- 1, Option ID : -1025  
   
   
 Question ID:- 258  

What is the alternative name for a monitor ?
(1) CPU
(2) VDE
(3) VDU
(4) VDO

HMld<^ % ?
(1) # Tft \ (CFU)
(2) -it i (VDE)
(3) \̂(VDU)
(4) ^ -H 3ft (VDO)

Which of the following is a storage device ?
(1) Hard disk
(2) VDU
(3) CU
(4) Speaker

PinfetRad 3^ «RF •wft'Ji % ?
(1)
(2)
(3)
(4) Pfl =h<
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 Options:-  

.1, Option ID :- 1029,  

. 2, Option ID :- 1030,  

. 3, Option ID :- 1031,  

. 4, Option ID :- 1032,  

 Answer Given:- 3, Option ID : -1031  
   
   
 Question ID:- 259  

   

 Options:-  

.1, Option ID :- 1033,  

. 2, Option ID :- 1034,  

. 3, Option ID :- 1035,  

. 4, Option ID :- 1036,  

 Answer Given:- 4, Option ID : -1036  
   
   
 Question ID:- 260  

Which of the following is called the brain of the computer ?
(1) CU
(2) VDU
(3) CPU
(4) ALU

PinfelHsld P R1 T̂T t ?
(1) ^H(CU)
(2) \̂(VDU)
(3) (CPU)
(4) ^ T^(ALU)

Which of the following is not an input device ?
(1) Touchpad
(2) Sensors
(3) Microphone
(4) Projector

(1)
(2)
(3) HlSsbl ^bH
(4) y )^<+d<
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 Options:-  

.1, Option ID :- 1037,  

. 2, Option ID :- 1038,  

. 3, Option ID :- 1039,  

. 4, Option ID :- 1040,  

 Answer Given:- 1, Option ID : -1037  
   
 Subject : WE_Q81-Q180_TGTWE  
   
   
 Question ID:- 261  

   

 Options:-  

.1, Option ID :- 1041,  

. 2, Option ID :- 1042,  

. 3, Option ID :- 1043,  

. 4, Option ID :- 1044,  

 Answer Given:- 2, Option ID : -1042  
   
   
 Question ID:- 262  

Which of the following statement is correct with respect to CPU ?
(1) It controls all other parts of the computer.
(2) It is controlled by the CU and instructs output and input devices.
(3) It is the unit that stores instructions, data and intermediate results.
(4) It is a part of the ALU that carries out arithmetic and logic operations.

# Tft 3 ftHfafisId 3$ TTT Wt t ?
(1) ^ % 3Rt Vfirff PiqBid % I

(2) 1̂# RWfad ltdT t 3TT5S5S cf«Tf flo[T f̂t f̂t 3^1*1 d 3RdT 1? I

(3) ’MS ‘d? % *̂ft 3 ^̂, Slil 3ftr 5<i<Hirsy
>
(i MRU(IM7 F̂t RSR <*> <dl I

(4) ^ tp'T RFT 1? f̂t -< [pJlfd -M 3?K dlP4)d> dft RRcTT 1? 1

When a semiconductor is doped with a p-type impurity, each impurity atom will :

(1) Acquire negative charge
(2) Acquire positive charge
(3) Remain electrically neutral

(4) Give away one electron

*Tsf cH^-dicdch p-R R̂ 3t^dl PlHpsld ( Hlfdd ) fdRTT T̂TcTT % eft ycft =b 3TSpg

WPJ :

(1) ^>un^Rid ift r̂npn

(2) ^HNRid it ^TTqrn

(3) ^fg ^ <SdlR1d TI7!!
(4) SctdeM f̂t fdertPid =Ft7TT
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 Options:-  

.1, Option ID :- 1045,  

. 2, Option ID :- 1046,  

. 3, Option ID :- 1047,  

. 4, Option ID :- 1048,  

 Answer Given:- 1, Option ID : -1045  
   
   
 Question ID:- 263  

   

 Options:-  

.1, Option ID :- 1049,  

. 2, Option ID :- 1050,  

. 3, Option ID :- 1051,  

. 4, Option ID :- 1052,  

 Answer Given:- 1, Option ID : -1049  
   
   
 Question ID:- 264  

Drift current in a p-n junction is influenced by :

(1) Applied voltage
(2) Concentration

(3) Concentration gradient
(4) None of these

p-n ( £HlcH=t>-3iulkH =b ) Tlfa *TRT PlHlT=brl ^ U T̂Tf̂ cT ijtcft H ?
(1)
(2)
(3) WI yclWcfl

(4) ^^ 4T|^ “Riff

In the depletion region of a p-n junction :

(1) p-side is positively charged n-side is negatively charged.

(2) There is hole concentration on the n-side and electron concentration on the p-side.

(3) n-side is positively charged and p-side is negatively charged.

(4) None of these.

^ilrHcti- 5h>ullrHch Tffa % 3^R -

(1) p-Hlv4 ^fcTT ^ I n-W^ 5feull^Rfm iffcTT % I

(2) n-W^ "£f "5̂ 4-llrful H "H^SUI p-W^ ^tcTT % I

(3) n-M!v4 R̂T%%ct ^tcTT % 3?|R p-W^ ^tctT % I

(4) ^ I
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 Options:-  

.1, Option ID :- 1053,  

. 2, Option ID :- 1054,  

. 3, Option ID :- 1055,  

. 4, Option ID :- 1056,  

 Answer Given:- 2, Option ID : -1054  
   
   
 Question ID:- 265  

   

 Options:-  

.1, Option ID :- 1057,  

. 2, Option ID :- 1058,  

. 3, Option ID :- 1059,  

. 4, Option ID :- 1060,  

 Answer Given:- 4, Option ID : -1060  
   
   
 Question ID:- 266  

In the energy band diagram of a p-type semiconductor :

(1) The acceptor band is near the conduction band.

(2) The acceptor band is near the valence band.

(3) The donor band is near the conduction band.

(4) The donor band is near the valence band.

pAT̂ T % <<sHp^3
(1) yiS'* ^ICH

(2) TTPF7 #5^'sfeb % -(HHIM ifcff 11
(3) -cileH % *IHIH '^tcTT % I

(4) ^TcTT Ife ^IcfT 11

% TTRW ^trfT 1? 1

Unidirectional property of p-n junction diode is used as :

(1) Amplifier
(2) Oscillator

(3) Transistor

(4) Rectifier

*HlcH<*-^ullcH=h Tffa 514)5 'J'Wf PlHlT=hd R ^ TfalH?
(1) 3H|q «^ct, ( <+>! <« )

(2)
(3)
(4) Ry+Kl %
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 Options:-  

.1, Option ID :- 1061,  

. 2, Option ID :- 1062,  

. 3, Option ID :- 1063,  

. 4, Option ID :- 1064,  

 Answer Given:- 3, Option ID : -1063  
   
   
 Question ID:- 267  

Two Silicon diodes are used in the circuit shown
>

15 V

Calculate the diode current ID (VD1= VD2 = 0.7V) :

(1) 3 mA
(2) 2.86 mA

(3) 2.72 mA

(4) 3.14 mA

cwW^ *¥ RlPel ^M 5l4ls TPTt1! f̂ TT "W % I

15 V

^ MRM ®1 R 414) 4 %TRT - 3TI MRcheH =h) RslM, I (VD1 = VD-> = 0.7V)

(1) 3 mA

(2) 2.86 mA

(3) 2.72 mA

(4) 3.14 mA
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 Options:-  

.1, Option ID :- 1065,  

. 2, Option ID :- 1066,  

. 3, Option ID :- 1067,  

. 4, Option ID :- 1068,  

 Answer Given:- 4, Option ID : -1068  
   
   
 Question ID:- 268  
   

The negative shunt clipper has a ± 5 V input and is to produce a + 4.0V minimum output when
the load current is 2mA. Determine a suitable resistance for R :

R II
O MMnInput

+ 5V0 RL Output
Input

— 5V O

(1) 2.5 kD.

(2) 2 kCl

(3) 4.5 kQ

(4) 500 a

WIT 3 ±5V t 3pR T̂TftcT *1KT 2 mA +4.0V frfa #TT t eft R
yPrul r̂ fa r̂fftcT cblfaiJ, :

R II
O MMnInput

+ 5V RL Output
Input

— 5V o-

(1) 2.5 kQ

(2) 2 kD
(3) 4.5 kn
(4) 500 a

In a Zener diode :

(1) Both p and n regions are heavily doped.

(2) Both p and n regions are lightly doped.

(3) Only the n region is heavily doped.

(4) Only the p region is heavily doped.
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 Options:-  

.1, Option ID :- 1069,  

. 2, Option ID :- 1070,  

. 3, Option ID :- 1071,  

. 4, Option ID :- 1072,  

 Answer Given:- 3, Option ID : -1071  
   
   
 Question ID:- 269  

   

 Options:-  

.1, Option ID :- 1073,  

. 2, Option ID :- 1074,  

. 3, Option ID :- 1075,  

. 4, Option ID :- 1076,  

 Answer Given:- 3, Option ID : -1075  
   
   
 Question ID:- 270  
   

#R 3-

(1) WW 3?R ?feullcH^^PTf ®tp 3tf*RF ^RTf^cT^f I

(2) *Hlc*H «h 3^R 5t4'J||rH'+>^ft Hli <d "?tcf 1? I

(3) %3cT^ftlcl o^rT Hlfĉ cl ^TcTT % I

(4) =Md ĤI^R’Id &5f 37fyRT Hlfdd ijfcfT % I

The light emitting diode (LED) :

(1) Is usually made from silicon.
(2) Uses a reverse biased junction.
(3) Gives a light output which increases with increase in temperature.
(4) Depends on the recombination of holes and electrons.

HehNflcH'siT SI-MIS (-q^T.-f.^t. ) -

(1) fHHMddl PflfedcbH ^ îT f̂dT 't
(2) 3#Hd Rfa y^«td ftcTf %
(3) ^FRf ydil^l efiT 6ldl 1? <flR dlHshî «Rp) R̂ df? ®l<5dl %
(4) ^RSddii 3ftT 5e)4£H^ ’’R 3RdT % I

The capacitance of a reverse biased P-N junction :

(1) Increases as the reverse bias is decreased.
(2) Increases as the reverse bias is increased.
(3) Is independent of the reverse bias voltage.
(4) Depends mainly on the reverse saturation current.
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 Options:-  

.1, Option ID :- 1077,  

. 2, Option ID :- 1078,  

. 3, Option ID :- 1079,  

. 4, Option ID :- 1080,  

 Answer Given:- 2, Option ID : -1078  
   
   
 Question ID:- 271  

   

 Options:-  

.1, Option ID :- 1081,  

. 2, Option ID :- 1082,  

. 3, Option ID :- 1083,  

. 4, Option ID :- 1084,  

 Answer Given:- 3, Option ID : -1083  
   
   
 Question ID:- 272  

o^csbH cfff F̂RT ÎlcRl Rfq qft RRlRcll-
(1) oĝ ftcf SffRRcT % R1R^cff t
(2) Rp f̂arf 3#FRT *¥ Rfe^RT RScft %
(3) Rl o^csbRlcI 3#HcT dWcll RR RFT? RRra Riff RScIT %
(4) yteMd: oĝ iftRT R^H RRf RR fR*R RRcft 11

A p-n photodiode is made of a material with a bandgap of 2 eV. The minimum frequency of the
radiation that can be absorbed by the material is nearly :

(h =6.63 XlO-34 Js,1 eV = 1.6 X 1{P19 J) :

(1) 1x 1014 Hz

(2) 20 xl014 Hz

(3) 5xl014 Hz

(4) 10 XlO14 Hz

*HT%fW ^1 Id Rid ''RfZt (W?T-^Fte) RRT«1 ®RT f 1RRR 2 eV RR Ife-3RRR1^TRT11 ctf
fR ^RT cMciRlRld i?R RTc^ fcli=t)< ,Jl -̂ IdH RFTRR f =hrn1 Rht ?
(h = 6.63 XlO"34 Js, leV = 1.6 x 10~19 J)
(1) 1xlO14 Hz

(2) 20 xlO14 Hz
(3) 5 xlO14 Hz

(4) 10 xlO14 Hz
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 Options:-  

.1, Option ID :- 1085,  

. 2, Option ID :- 1086,  

. 3, Option ID :- 1087,  

. 4, Option ID :- 1088,  

 Answer Given:- 2, Option ID : -1086  
   
   
 Question ID:- 273  

   

 Options:-  

.1, Option ID :- 1089,  

. 2, Option ID :- 1090,  

. 3, Option ID :- 1091,  

. 4, Option ID :- 1092,  

 Answer Given:- 3, Option ID : -1091  
   
   
 Question ID:- 274  

Intrinsic carrier concentration of a given semiconductor depends on :

(1) Band gap
(2) Temperature
(3) Both Band gap and temperature
(4) None of these

TT 37^- -elicit 37̂ qidR=h ( 37-d*|<1) clinch *7 <^;ul PlHl'faicI # # f#17 R̂cH % ?
(1) #5-37nKW

(2) CllHstiH

(3) #̂ -37cKld 3?R dNshH

(4) Tiff

In a p-n junctioxr having depletion layer of thickness 10 6m, the potential difference across it is
0.1 V. The electric field is :

(1) 107 V/m

(2) 10“6 V/m

(3) 105 V/m

(4) 10“5 V/m

10̂ m TSJcRTT cfTcl 3 ^̂PT #T W % 3 0.1 I eft %<T fat :

(1) 107 V/m

(2) 10“6 V/m

(3) 105 V/m

(4) 10“5 V/m
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 Options:-  

.1, Option ID :- 1093,  

. 2, Option ID :- 1094,  

. 3, Option ID :- 1095,  

. 4, Option ID :- 1096,  

 Answer Given:- 1, Option ID : -1093  
   
   
 Question ID:- 275  

The circuit is equivalent to :

(1) NOR gate
(2) OR gate
(3) EX-OR gate
(4) NAND gate

qfrisi PiHlT=bd 3 TFRJvT t :

(1) TTT.3Ti.31R. Tte
(2) 3Tt.3TR. Tfe
(3) TTR-3Tt.3TR. i\Z

(4) TTT.TT.TTT. t̂. Tfe
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 Options:-  

.1, Option ID :- 1097,  

. 2, Option ID :- 1098,  

. 3, Option ID :- 1099,  

. 4, Option ID :- 1100,  

 Answer Given:- 4, Option ID : -1100  
   
   
 Question ID:- 276  

Given the truth table relating Y to A, B

A B Y

0 0 1

0 1 1

11 0

1 1 0

Then Y is given by :

(1) A + B

(2) A.B
(3) ATB
(4) ATB

Y ^ A, B ^ ^TT •Mc'MHM +IKul) % I

A B Y

00 1

0 1 1

1 0 1

1 1 0

<Tt Y ^FT BFT ^ f+>+r£f ‘SfTRT ^BlT ?
(1) A + B

(2) A.B
(3) A + B

(4) ATB
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 Options:-  

.1, Option ID :- 1101,  

. 2, Option ID :- 1102,  

. 3, Option ID :- 1103,  

. 4, Option ID :- 1104,  

 Answer Given:- 3, Option ID : -1103  
   
   
 Question ID:- 277  

   

 Options:-  

.1, Option ID :- 1105,  

. 2, Option ID :- 1106,  

. 3, Option ID :- 1107,  

. 4, Option ID :- 1108,  

 Answer Given:- 3, Option ID : -1107  
   
   
 Question ID:- 278  

A CRO cannot be used for the measurement of :

(1) Voltage
(2) Current

(3) Power

(4) Frequency

CRO TPfpT PlHlPfcd *¥ TO % Wf fTOTT TOFrTT t ?
(1) =<Wdl
(2) TOT

(3) f^T

(4) 3TT^T

The main advantage of emitter follower is :

(1) Voltage gain is less than unity.
(2) Output impedance is high and input impedance is low.
(3) Voltage gain is very high.
(4) Output impendance is low and input impedance is high.

3-t^UHl TTI cTN 1? :

(1) TIM dWdl dcflH'+i ^ Flcft % I

(2) "PFfa 3TTOTT ^Tcft % PH^I TTTOTT ftdt % I

(3) cTlrdrll 3tfTO> t?Twl % I

(4) PFIH i-MIVT ^Idl % Pi^l 'SRTVl 3rfTOr ^|dl % I
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 Options:-  

.1, Option ID :- 1109,  

. 2, Option ID :- 1110,  

. 3, Option ID :- 1111,  

. 4, Option ID :- 1112,  

 Answer Given:- 2, Option ID : -1110  
   
   
 Question ID:- 279  

   

 Options:-  

.1, Option ID :- 1113,  

. 2, Option ID :- 1114,  

. 3, Option ID :- 1115,  

. 4, Option ID :- 1116,  

 Answer Given:- 1, Option ID : -1113  
   
   
 Question ID:- 280  

The amplifier has a voltage gain of 20 dB. The input voltage is 20 mV. Then the output voltage is
given by :

(1) 2 V

(2) 0.2 V
(3) 20 V
(4) 4 V

BB^Ni T\ 20 dB B?T qlcridl BB?t 11ft^T qlexidl 20 mV t BT BBT? ftifa dWdl :

(1) 2 V

(2) 0.2 V

(3) 20 V

(4) 4 V

The operation of JFET involves :

(1) Flow of majority carriers.
(2) Flow of minority carriers.
(3) Flow of both majority and minority carriers.
(4) Negative resistance region.

JFET % *¥ 3Hdital ^tcTT % :

(1) ciigchf BTT BBT?

(2) BTcBTnsBBT B? BBT?

(3) B§*n§STBT 3flR ^Rf BT?B?T B? BBT?

(4) 3?ViicHB> BtdffB £tB
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 Options:-  

.1, Option ID :- 1117,  

. 2, Option ID :- 1118,  

. 3, Option ID :- 1119,  

. 4, Option ID :- 1120,  

 Answer Given:- 1, Option ID : -1117  
   
   
 Question ID:- 281  

   

 Options:-  

.1, Option ID :- 1121,  

. 2, Option ID :- 1122,  

. 3, Option ID :- 1123,  

. 4, Option ID :- 1124,  

 Answer Given:- 2, Option ID : -1122  
   
   
 Question ID:- 282  

The potential divider method of biasing is used in amplifiers to :

(1) Make the operating point almost independent of Beta.
(2) To get a faithful amplification of input signal.
(3) To avoid thermal run away.
(4) To reduce the collector current.

3 3Tf*FPH f̂ rtbebKeb fsrffcf ^ fdvMI 'Jlldl % ?
(1) ^ WT: frafskl ^TFf %
(2) fH^I-^d =b ^>T 3ptf$Tcf Tfasfa 3fTH

(3) cTN % srffpfaH % MR6K

(4) *TRT

An opto coupler combines :

(1) A LED and a diode.
(2) A LED and a transistor.
(3) A LED and a photo detector.
(4) A LED and a photo transistor.

( STMf̂ feR) if PlHl’Rbd if if RtvH =bl TTTDR ftcfT t ?
(1) .SN

"W
(2) H'h 3ffc
(3) T33> 3frc Q^T TRFTRT TRJyT̂ T C'hl^f (4^=fe<)

(4) 3^17 TT F̂> ^Ttif ^tf T̂FST

https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap


2/23/23, 10:46 PM Response Sheet

https://kvsexam13feb23s1.cbtexam.in/Candidate/ResponseSheet.aspx?Urlval=fa871369-2971-460b-9691-98a128654623&Rollno=22042440… 55/107

   

 Options:-  

.1, Option ID :- 1125,  

. 2, Option ID :- 1126,  

. 3, Option ID :- 1127,  

. 4, Option ID :- 1128,  

 Answer Given:- 4, Option ID : -1128  
   
   
 Question ID:- 283  

   

 Options:-  

.1, Option ID :- 1129,  

. 2, Option ID :- 1130,  

. 3, Option ID :- 1131,  

Which of the following diodes can be used to rectify weak signals whose amplitudes are between
0.1 and 0.7 V ?
(1) Zener diode

(2) Ordinary/Black diode

(3) Schottky diode

(4) Light emitting diode

f^cM 3TFTTR 0.1 0.7 V % fTcTT %, ^ PlHlT=bd 3^ f^RT
y4lJl Pb'MI T̂T fl'+irll % ?
(1) SN'I -S
(2) RTW'T/f^
(3) Sl4U
(4) yctiRFlcHMil -si^W

A transformer is used to light a 100 W and 110 V lamp from a 220 V mains. If the main current is
0.5A then efficiency of the transformer is approximately :

(1) 30%

(2) 90%
(3) 10%
(4) 50%

220 ‘5̂ 1 100 RT3 3% 110 dlYlM->T4< 1̂ feRTT T̂lcTT 1? I Rfc
*TRT 0.5A % lit cTRTWft 3RcfT faicHl %

(1) 30%
(2) 90%
(3) 10%

(4) 50%

:
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. 4, Option ID :- 1132,  

 Answer Given:- 2, Option ID : -1130  
   
   
 Question ID:- 284  

   

 Options:-  

.1, Option ID :- 1133,  

. 2, Option ID :- 1134,  

. 3, Option ID :- 1135,  

. 4, Option ID :- 1136,  

 Answer Given:- 4, Option ID : -1136  
   
   
 Question ID:- 285  

   

 Options:-  

.1, Option ID :- 1137,  

. 2, Option ID :- 1138,  

. 3, Option ID :- 1139,  

The primary coil of an ideal transformer has 100 turns and the secondary coil has 600 turns.
Then :

(1) The power in the primary circuit is less than that in the secondary circuit.
(2) The current in two circuits are same.
(3) The voltage in the two circuits are same.
(4) The primary current is six times the secondary current.

ZRThPft % 3100 jsdd 3 600 t eft fT^IT 3:

(1) ''tfc'IST fagjd fs.dl 'Mcb fa?£d ^ "*¥ % I

(2) #ff TfTT?lf 3 ydlPed T̂RT pTW1 11
(3) ^“PTl TfriSTt ^IrScTT TFTR % I

(4) TnsrfcreF) $JKI ymi ^ uinpn 3if*rar ^fl11

In series LCR AC circuit, the voltage of the source at any instant is equal to :

(1) The sum of the maximum voltage across the elements.
(2) The voltage drop across the resistor.

(3) The sum of the instantaneous voltages across the elements.
(4) The sum of the rms voltages across the elements.

LCR yrMMdl *JKI qft'W sp§TTI 3, m3 =Ft dWdl -

(1) R 3tfq=hdM cfteddl % "TT1!% e|<.l ®K 1? I

(2) 3 dWdl sft ^TTcft % I

(3) 3FHTt 3HdRdf 3 rTRSffaf̂ r dlcridl % % «|<|«K ^teft % I

(4) TFHRT 3Tqqq ^ rms dVidl % 'RhT % dHH Pdt % I

https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap


2/23/23, 10:46 PM Response Sheet

https://kvsexam13feb23s1.cbtexam.in/Candidate/ResponseSheet.aspx?Urlval=fa871369-2971-460b-9691-98a128654623&Rollno=22042440… 57/107

. 4, Option ID :- 1140,  

 Answer Given:- 3, Option ID : -1139  
   
   
 Question ID:- 286  

   

 Options:-  

.1, Option ID :- 1141,  

. 2, Option ID :- 1142,  

. 3, Option ID :- 1143,  

. 4, Option ID :- 1144,  

 Answer Given:- 3, Option ID : -1143  
   
   
 Question ID:- 287  

   

 Options:-  

.1, Option ID :- 1145,  

. 2, Option ID :- 1146,  

. 3, Option ID :- 1147,  

Tunnel diode and Avalanche photodiode are operated in
respectively.
(1) Reverse, reverse.
(2) Reverse, forward.
(3) Forward, reverse

(4) Forward, forward.

bias and bias

(1)
(2) oijcsb'M, 3TOlf̂ R^
(3) oJcjFTR

(4) snnfartja,

3#F#t 3fR 3#HfcT 3 ycilRlcI ^trt f I

A ideal current source is one whose internal resistance is :

(1) Very high
(2) Very low

(3) Zero

(4) Infinite

37T f̂ *TR[ ^TRT cff ^FTT t 3jidR<* TlfcRt«4 ijfcfT t
(1) 3#^
(2) 34%
(3) ^(4) 3TqftfiTcl ( 3FFrf )

:
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. 4, Option ID :- 1148,  

 Answer Given:- 4, Option ID : -1148  
   
   
 Question ID:- 288  

   

 Options:-  

.1, Option ID :- 1149,  

. 2, Option ID :- 1150,  

. 3, Option ID :- 1151,  

. 4, Option ID :- 1152,  

 Answer Given:- 4, Option ID : -1152  
   
   
 Question ID:- 289  

   

 Options:-  

.1, Option ID :- 1153,  

. 2, Option ID :- 1154,  

A device whose characteristics are very close to that of an ideal voltage source is a :

(1) Thermistor.
(2) Transistor in common base mode.
(3) Field effect transistor.
(4) Zener diode.

(^frfr ) Fsl'Hcbl 3#MT8iR'l =h^3TT f̂ Hlrdcll fnelRl-^eldl 1?, 1? :

(1) HfifcR
(2) TfTRiRJ STfHrfTTT 'Rte 3 dlTd^i<
(3) HHIT diTcn
(4) #R 4l4l4

A constant current source supplies a current of 300 mA to a load of 2 kQ. When the load is changed
to 200 O, the load current will be :

(1) 3 A

(2) 300 mA
(3) 30 mA

(4) 600 mA

TRTrf HR! tHlrl ^ 2 k£2 % MR 300 mA^ HRT Wff^ct 11 ’HR ®Kd=h< 200 £2 TR f̂ TTl

^TT HR HR! s?pft :

(1) 3 A

(2) 300 mA

(3) 30 mA

(4) 600 mA
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. 3, Option ID :- 1155,  

. 4, Option ID :- 1156,  

 Answer Given:- 2, Option ID : -1154  
   
   
 Question ID:- 290  

   

 Options:-  

.1, Option ID :- 1157,  

. 2, Option ID :- 1158,  

. 3, Option ID :- 1159,  

. 4, Option ID :- 1160,  

 Answer Given:- 2, Option ID : -1158  
   
   
 Question ID:- 291  

   

 Options:-  

.1, Option ID :- 1161,  

. 2, Option ID :- 1162,  

Which of the following is an advantage of FM over AM ?

(1) Less noise.
(2) Larger bandwidth.
(3) More circuit complexity.
(4) Can be transmitted to longer distances.

AM ^ cjyHT FM ^fg ^ vfT R̂T %?
(1) 3?faTf <T ^
(2) =|STK Ifefosf
(3) ST^STI^KT ti^ddl ( Mlfeddl )

(4) ^3FteTf =Fcf 3Tf*l̂ iftfad ( £KlfH <d ) t̂ TT ‘STT H =hdl %

In an amphtude modulated wave for audio frequency of 500 cycles/second, the appropriate carrier
frequency will be :

(1) 50 cycles/sec

(2) 100 cycles/sec

(3) 500 cycles/sec
(4) 50,000 cycles/sec

500 3lfcT ^ 3TT^fo % fag; STFTFt Hl§ftld WT 3, 3TT^frT ^Fft :

(1) 50

(2) 100 Rfrf
(3) 500

(4) 50,000 Tffrf ^=hu-S
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. 3, Option ID :- 1163,  

. 4, Option ID :- 1164,  

 Answer Given:- 4, Option ID : -1164  
   
   
 Question ID:- 292  

   

 Options:-  

.1, Option ID :- 1165,  

. 2, Option ID :- 1166,  

. 3, Option ID :- 1167,  

. 4, Option ID :- 1168,  

 Answer Given:- 1, Option ID : -1165  
   
   
 Question ID:- 293  
   

A speech signal of 3 kHz used to modulate a carrier signal of frequency 1 MHz, using amplitude
modulation. The frequencies of the side bands will be :

(1) 1.003 MHz and 0.997 MHz

(2) 3001 kHz and 2997 kHz

(3) 1003 kHz and 1000 kHz

(4) 1 MHz and 0.997 MHz

3TTTR "STTH '^Rrl fT1 MHz % 31$^ *̂ d =h HI§fVtd 3 kHz 7̂^ •H^ddi

(TTfa R-ljJcn ) f̂ TT ‘Well ^ f’pff :

(1) 1.003 3tn 0.997 ^TT^T

(2) 3001 r=hril^ss) 3fn 2997 %ctf!vfeT
(3) 1003 3fR 1000

(4) 1 3fR 0.997 AJII$Asr|

Three waves A, B and C of frequencies 1600 kHz, 5 MHz and 60 MHz respectively are to be
transmitted from one place to another. Which of the following is the most appropriate mode of
communication ?

(1) A is transmitted via space wave while B and C are transmitted via sky wave.
(2) A is transmitted via ground wave, B via sky wave and C via space wave.
(3) B and C are transmitted via ground wave while A is transmitted via sky wave.
(4) B is transmitted via ground wave while A and C are transmitted via space wave.
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 Options:-  

.1, Option ID :- 1169,  

. 2, Option ID :- 1170,  

. 3, Option ID :- 1171,  

. 4, Option ID :- 1172,  

 Answer Given:- 2, Option ID : -1170  
   
   
 Question ID:- 294  

   

 Options:-  

.1, Option ID :- 1173,  

. 2, Option ID :- 1174,  

. 3, Option ID :- 1175,  

. 4, Option ID :- 1176,  

 Answer Given:- 2, Option ID : -1174  
   
   
 Question ID:- 295  

A, B sfk C rffa rR^t 37T^frRT shH^I: 1600 5 3^R 60 t "3^^T^TR ^RTR <Ri H 'dlRd feRT "5TRT % cff ^TT PlHl'Rbd ^ TRIR TR^ERi ?
(1) A^IlRRf<#iH cRTT %:BT«Fr^%^T ^ncTrt 'Jl -siRb B 3^ C ^FI 3TT̂ m WT % ^ ^RTI11
(2) A T̂ TNK ^-CR1!% ‘BÎ R ^ t̂ FRTT T̂TcTT %, B Til -H <̂'jI 3HlT> l*flT) WT^ 3fk C TiT TNRTT ideft M CTFT

% HI^H ^?RT % l

(3) B 3?R C T>T TTTRI *^-dRl % "RT^MH "& ^Hidi A T>T îT=l< ,Jl 31R7RTNT dRl "R $ldl 1? I

(4) B TT *Ruul ^-cft7!Tf T^Rti A 3?K C TiT TTTTC fd*M WT ^ ^IdT % I

The simplification of the Boolean expression

(ABC) + (ABC) is :

(1) 0

(2) 1

(3) C

(4) A

od'ddi (ABC) + (ABC) Til

y <dl=b<ul % -

(1) 0

(2) 1

(3) C

(4) A
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 Options:-  

.1, Option ID :- 1177,  

. 2, Option ID :- 1178,  

. 3, Option ID :- 1179,  

. 4, Option ID :- 1180,  

 Answer Given:- 4, Option ID : -1180  
   
   
 Question ID:- 296  

   

 Options:-  

.1, Option ID :- 1181,  

. 2, Option ID :- 1182,  

. 3, Option ID :- 1183,  

. 4, Option ID :- 1184,  

 Answer Given:- 4, Option ID : -1184  
   
   
 Question ID:- 297  

The digital logic family which has minimum power dissipation is :

(1) TTL
(2) RTL
(3) ECL

(4) CMOS

f'lHlfed 3Ef SET s?!cTT t :

(1) TTL

(2) RTL

(3) ECL

(4) CMOS

The output of a logic gate is1 when all its inputs are at logic 0, the gate is either :

(1) NAND or an EXNOR gate
(2) OR or an EXOR gate
(3) AND or an EXOR gate
(4) NOR or an EX-NOR gate

1 % dTfacb êhl Tf*ft 0 % eft :

(1) tit NAND EXNOR ^11
(2) cTl OR ^TEXOR ^tetl
(3) ^TT tit AND ^ EXOR *1211
(4) tit NOR ^7T EX-NOR *t211

https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap


2/23/23, 10:46 PM Response Sheet

https://kvsexam13feb23s1.cbtexam.in/Candidate/ResponseSheet.aspx?Urlval=fa871369-2971-460b-9691-98a128654623&Rollno=22042440… 63/107

   

 Options:-  

.1, Option ID :- 1185,  

. 2, Option ID :- 1186,  

. 3, Option ID :- 1187,  

. 4, Option ID :- 1188,  

 Answer Given:- 1, Option ID : -1185  
   
   
 Question ID:- 298  

   

 Options:-  

.1, Option ID :- 1189,  

. 2, Option ID :- 1190,  

. 3, Option ID :- 1191,  

. 4, Option ID :- 1192,  

 Answer Given:- 3, Option ID : -1191  
   
   
 Question ID:- 299  

The 2's complement of the number 1101101 is :

(1) 0010011

(2) 1101110

(3) 0010010

(4) 0110010

PlHllVicI ^ HOMI 1101101 ^>1 2's TJCT> "I :

(1) 0010011

(2) 1101110

(3) 0010010

(4) 0110010

DeMorgan's theorem shows the equivalence of :

(1) NAND gate and OR gate
(2) NOR gate and bubbled OR gate
(3) NOR gate and bubbled AND gate
(4) NAND gate and bubbled AND gate

Ttffa "Sm if fHHlT<hd 3 TT ĝ fcTT T̂Tcft t?
(1) NAND OR

(2) NOR r̂s 3fa «p^OR^
(3) NOR Tte AND ^
(4) NAND Tfc AND ^
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 Options:-  

.1, Option ID :- 1193,  

. 2, Option ID :- 1194,  

. 3, Option ID :- 1195,  

. 4, Option ID :- 1196,  

 Answer Given:- 2, Option ID : -1194  
   
   
 Question ID:- 300  

   

 Options:-  

.1, Option ID :- 1197,  

. 2, Option ID :- 1198,  

. 3, Option ID :- 1199,  

. 4, Option ID :- 1200,  

 Answer Given:- 3, Option ID : -1199  
   
   
 Question ID:- 301  

The digital logic family that has the lowest propagation delay time is :

(1) ECL
(2) TTL
(3) CMOS

(4) NMOS

^fWldel tfTPddi fsRTSl TRTR v̂R (^ddH ) I?lcfT % :

(1) ECL
(2) TTL

(3) CMOS

(4) NMOS

In digital IC's, Schottky transistors are preferred over normal transistor because of their :

(1) Lower power dissipation
(2) Higher power dissipation
(3) Lower propagation delay
(4) Higher propagation delay

3T[f 3 UIHM difaWt stiSTI ^llecbl 3?f̂ F %IT f ?
(1) 3T̂ T^TT^Trf T̂R fa^d 3JE ^RT

(2) 3E3 ^̂TficT 3Tf̂ fospT m#TI

(3) MR 3 3T^ST[°FKT T̂R facR #T1

(4) ‘33% UTTR 3 3T^̂ fTfKT 3Tf̂ T̂ fsREE s?faT
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 Options:-  

.1, Option ID :- 1201,  

. 2, Option ID :- 1202,  

. 3, Option ID :- 1203,  

. 4, Option ID :- 1204,  

 Answer Given:- 1, Option ID : -1201  
   
   
 Question ID:- 302  

   

 Options:-  

.1, Option ID :- 1205,  

. 2, Option ID :- 1206,  

. 3, Option ID :- 1207,  

. 4, Option ID :- 1208,  

 Answer Given:- 2, Option ID : -1206  
   
   
 Question ID:- 303  

l's complement representation of decimal number of -17 by using 8 bit representation is :

(1) 1110 1110

(2) 1101 1101

(3) 1100 1100

(4) 0001 0001

8 fsrc PKF'M'JI '5PTfTI fq; -17 % l's f*1<^Hul fHHlfdid 3^ %R-# HOMI %?
(1) 1110 1110

(2) 1101 1101

(3) 1100 1100

(4) 0001 0001

The octal equivalent of (245)10 is :

(1) (360)8
(2) (365)g

(3) (563)8
(4) (562)g

(245)10 ^i°h % :

(1) (360)g
(2) (365)8

(3) (563)g

(4) (562)g
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 Options:-  

.1, Option ID :- 1209,  

. 2, Option ID :- 1210,  

. 3, Option ID :- 1211,  

. 4, Option ID :- 1212,  

 Answer Given:- 2, Option ID : -1210  
   
   
 Question ID:- 304  

   

 Options:-  

.1, Option ID :- 1213,  

. 2, Option ID :- 1214,  

. 3, Option ID :- 1215,  

. 4, Option ID :- 1216,  

 Answer Given:- 3, Option ID : -1215  
   
   
 Question ID:- 305  

The binary equivalent of (FA)16 is :

(1) 1010 1111

(2) 1111 1010

(3) 1000 1111

(4) 1111 1000

(FA)16 T>T tS3TI%IRl^ich t :

(1) 1010 1111

(2) 1111 1010

(3) 1000 1111

(4) 1111 1000

is called the figure of merit of an IC family.

(1) Speed
(2) Noise margin
(3) Speed power product
(4) Power dissipation

FlHlT'+id 3 Tf cJ8J<TT̂ %?
(1)
(2) T3 "3W

(3) fejcf dcHK

(4) fasgcl $PJ
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 Options:-  

.1, Option ID :- 1217,  

. 2, Option ID :- 1218,  

. 3, Option ID :- 1219,  

. 4, Option ID :- 1220,  

 Answer Given:- 1, Option ID : -1217  
   
   
 Question ID:- 306  

   

 Options:-  

.1, Option ID :- 1221,  

. 2, Option ID :- 1222,  

A multivibrator is used as a gating circuit and as a delay element.
(1) Astable

(2) Monostable
(3) Bistable

(4) Oscillator

Pinifed 3 FT TFiFT 3^ fqcl<s|=hl <l 3 f ?
(1) W'dR'tcl

(2) q=hdf^4ld =h
(3) fg—
(4) <td4>

For an astable multivibrator,

C = 0.1 g.F RA = 20 kH and RB = 60 k£2

The frequency of oscillation is approximately :

(1) 1 kHz

(2) 10 kHz

(3) 500 Hz

(4) 5 kHz

'W -dR'in if:
C = 0.1 (JLF RA = 20 m 3fR RB= 60 kft

ITt STT^frt eFT F̂j fcbclil fFft ?
(1) 1 P*>clt$<i3l

(2) io ftetai*
(3) 500

(4) 5
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. 3, Option ID :- 1223,  

. 4, Option ID :- 1224,  

 Answer Given:- 4, Option ID : -1224  
   
   
 Question ID:- 307  

   

 Options:-  

.1, Option ID :- 1225,  

. 2, Option ID :- 1226,  

. 3, Option ID :- 1227,  

. 4, Option ID :- 1228,  

 Answer Given:- 3, Option ID : -1227  
   
   
 Question ID:- 308  

   

 Options:-  

.1, Option ID :- 1229,  

Which of the following Boolean algebraic expression is incorrect ?

(1) A + A B = A + B

(2) A + B C= (A + B)(A + C)

(3) A + AB = B

(4) AB + AC + BC = AB+AC

PlHl'f=bd ^ +M-+fT q1'JlJirumo4'Jl=h bcdd % ?
(!) A + AB = A + B

(2) A + B C= (A + B)(A + C)

(3) A + AB = B

(4) AB + A C + BC = AB+AC

The difference output in a half subtractor is the same as the :

(1) Difference output of a full subtractor.
(2) Sum output of a full adder.
(3) Carry output of a half adder.
(4) Sum output of a half adder.

B 3RR P+ IH PlHlf =bd ^ PdrU^ ‘^T f ?
(1) ^oqc)ctie) <+ % 3TrR PI4H %
(2) PIJ1H %
(3) 4V|ch %> ^16+ PH4H %
(4) 4lM =h % ^TeT f+ffa %
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. 2, Option ID :- 1230,  

. 3, Option ID :- 1231,  

. 4, Option ID :- 1232,  

 Answer Given:- 4, Option ID : -1232  
   
   
 Question ID:- 309  

   

 Options:-  

.1, Option ID :- 1233,  

. 2, Option ID :- 1234,  

. 3, Option ID :- 1235,  

. 4, Option ID :- 1236,  

 Answer Given:- 1, Option ID : -1233  
   
   
 Question ID:- 310  

   

For the Boolean expression,

A + A B + A B C + A B C D +
(1) A + B +C+. . . .
(2) A + B + C + D +
(3) 1

(4) 0

osj'Jlch % feR :

A + A B + A B C + A B C D +
(1) A + B +C +. . . .
(2) A + B + C + D +
(3) 1

(4) 0

Voltage series feedback (also called series shunt feedback) results in :

(1) Increase in both input and output impedance.
(2) Decrease in both input and output impedance.
(3) Increase in input impedance and decrease in output impedance.
(4) Decrease in input impedance and increase in output impedance.

(1) 11
(2) Pi^i Pi <h) ®Ft y ®n T̂T ^ s)di % i

(3) f̂ ?T ®TScft t 3?lT fpfa 3tsfRTT VZdt f I

(4) Pistil Mdcfl 3fR pFpH THRU ®l <odl 1? I
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 Options:-  

.1, Option ID :- 1237,  

. 2, Option ID :- 1238,  

. 3, Option ID :- 1239,  

. 4, Option ID :- 1240,  

 Answer Given:- 3, Option ID : -1239  
   
   
 Question ID:- 311  

   

 Options:-  

.1, Option ID :- 1241,  

. 2, Option ID :- 1242,  

. 3, Option ID :- 1243,  

. 4, Option ID :- 1244,  

 Answer Given:- 4, Option ID : -1244  
   
   
 Question ID:- 312  

The variation of drain current with gate to source voltage (ID - characteristic) of a MOSFET
in shown in figure. The MOSFET is :

° l Vos *
(1) An n channel depletion mode device.
(2) An n channel enhancement mode device.
(3) A p channel depletion mode device.
(4) A p channel enhancement mode device.

fTT TT Tf MOSFET TZ F f̂tcT cfVddl ^TRT (fpfa *TRT ) TTT

dD - VGS 3#TdSFF) TO t:
^ MOSFET t :

0 VGS

(1) n-^id R̂Tfsrf f̂ ^Rb
(2) n-^-id 3HIC) «^'1 ^Rb
(3) p-^id §FT î rf̂ ^Rb
(4) p-^1d ^
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 Options:-  

.1, Option ID :- 1245,  

. 2, Option ID :- 1246,  

. 3, Option ID :- 1247,  

. 4, Option ID :- 1248,  

 Answer Given:- 3, Option ID : -1247  
   
   
 Question ID:- 313  
   

Match items in Group I with items in Group II, most suitably :

Group-II

(i) Heavy doping
(ii) Coherent radiation

(iii) Spontaneous emission

(iv) Current gain

Group-I

(A) LED
(B) Avalanche photodiode
(C) Tunnel diode

(D) Laser

(1) (A)-(i), (B)-(ii), (C)-(iv), (D)-(iii)
(2) (A)-(ii), (B)-(iii), (C)-(i), (D)-(iv)

(3) (A)-(iii), (B)-(iv), (C)-(i), (D)-(ii)
(4) (A)-(ii), (B)-(i), (C)-(iv), (D)-(iii)

P̂Jjj-I TEpT-II ER ^
(A) TTvT.t^.
(B) 3TRRTR RilZt 4IRI4
(C) Sl4)s
(D)

TEĴ -II

(i) "3^ ERE
(ii) TETrff fafeb^l

(iii) “SEE: virtH'Jl'l

(iv) RET

(1) (A)-(i), (B)-(ii), (C)-(iv), (D)-(iii)
(2) (A)-(ii), (B)-(iii), (C)-(i), (D)-(iv)

(3) (A)-(iii), (B)-(iv), (C)-(i), (D)-(ii)

(4) (A)-(ii), (B)-(i), (C)-(iv), (D)-(iii)

The resistivity of a uniformly doped n-type Si sample is 0.5 flcm. If the electron mobility (pn) is
1250cm2/V-sec and the charge of an electron is 1.6X10“19 coulomb, the donor impurity
concentration (ND) in the samples is :

(1) 2 x 1016/cm3

(2) 1x 1016/cm3

(3) 2.5 x1015/cm3

(4) 1x 1015/cm3

https://applink.adda247.com/d/XhqWf9lSap
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 Options:-  

.1, Option ID :- 1249,  

. 2, Option ID :- 1250,  

. 3, Option ID :- 1251,  

. 4, Option ID :- 1252,  

 Answer Given:- 2, Option ID : -1250  
   
   
 Question ID:- 314  

   

 Options:-  

.1, Option ID :- 1253,  

. 2, Option ID :- 1254,  

. 3, Option ID :- 1255,  

^7 ^ H (f<d ( fanfold ) n-YTW7 % Si yfd <l*7didl 0.5 Q. ^Tft. % l^ $<H4dld 3iT
'fNeH (fin) 1250 cm2/V-sec t #7 $elef£H STT^F 1.6X10“19 % eft^TeT 3^TcTT 37^n WI
(Nd) f̂ cRTt ?
(1) 2 X 1016/cm3

(2) 1 x 1016/cm3

(3) 2.5 x 1015/cm3

(4) 1x 1015/cm3

The following relationships in a transistor between a and (3 are correct except :

(1) “ = 1 + P
11 - a = —1 + p(2)

O) P = T
1̂(4) a = 1 - p

fdvnl dlT̂ 1'W< 37e*FI (a) (p) % Tfeq PlMilf+d ^ £ldl % ?

PW TTp
i

(2) !"

1 + p
_ a

(3) P = 1 - a

P(4) “ “ 1 - p

https://applink.adda247.com/d/XhqWf9lSap
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. 4, Option ID :- 1256,  

 Answer Given:- 4, Option ID : -1256  
   
   
 Question ID:- 315  

   

 Options:-  

.1, Option ID :- 1257,  

. 2, Option ID :- 1258,  

. 3, Option ID :- 1259,  

. 4, Option ID :- 1260,  

 Answer Given:- 4, Option ID : -1260  
   
   
 Question ID:- 316  

   

 Options:-  

.1, Option ID :- 1261,  

. 2, Option ID :- 1262,  

. 3, Option ID :- 1263,  

. 4, Option ID :- 1264,  

If three cascaded stages of amplifiers have gains 10, 20, 30, the overall gain will be :

(1) 200

(2) 400
(3) 600

(4) 6000

felt ^ 10, 20, 30 % T̂RTT crff Î fchcul ijEft ?
(1) 200

(2) 400

(3) 600

(4) 6000

Which of the following configurations can be used as a buffer ?

(1) Common Emitter

(2) Common Base

(3) Common Collector

(4) All of the above

r-iHlT'+id ^ t̂ RT MET yRuVlt % T̂ 3%*TT T̂T MTcTT %?
(1) WEPT

(2) HFTPT 3TT«TR

(3) UTEPT TTUTMT
(4) 4M^Tb
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 Answer Given:- 1, Option ID : -1261  
   
   
 Question ID:- 317  

   

 Options:-  

.1, Option ID :- 1265,  

. 2, Option ID :- 1266,  

. 3, Option ID :- 1267,  

. 4, Option ID :- 1268,  

 Answer Given:- 2, Option ID : -1266  
   
   
 Question ID:- 318  

   

 Options:-  

.1, Option ID :- 1269,  

. 2, Option ID :- 1270,  

. 3, Option ID :- 1271,  

. 4, Option ID :- 1272,  

 Answer Given:- 1, Option ID : -1269  
   

An oscillator of the LC types that has a split capacitor in the tank circuit is :

(1) Hartley
(2) Colpitts
(3) Tuned

(4) Weinbridge

(1)
(2) =blfcr4d

(3) TRTqrfTcT

(4)

The frequency stability of LC oscillator is

(1) Less

(2) More
(3) Either of the above

(4) Depends on R, L and C

than RC oscillators.

LC '{lei'* RC <kn=b ^ cprHT :

(1) ®hH 6ldl 1?
(2) 3rfe#rrt
(3) <l*i) 3Tf <=bl4
(4) TR R, L 3fR C XR fpft 1
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 Question ID:- 319  

   

 Options:-  

.1, Option ID :- 1273,  

. 2, Option ID :- 1274,  

. 3, Option ID :- 1275,  

. 4, Option ID :- 1276,  

 Answer Given:- 1, Option ID : -1273  
   
   
 Question ID:- 320  

   

 Options:-  

.1, Option ID :- 1277,  

. 2, Option ID :- 1278,  

. 3, Option ID :- 1279,  

. 4, Option ID :- 1280,  

 Answer Given:- 3, Option ID : -1279  
   
   
 Question ID:- 321  

Weinbrigde oscillator uses

(1) Positive

(2) Negative
(3) Both positive and negative
(4) Neither positive or negative

feedback.

farR IPTFT ^TcTT %?
(1)
(2) *iull^l

(3) ^Hl^l ^ff
(4) R eft R 4iuli^^l

Which is not an effect of negative feedback ?

(1) Reduces noise

(2) Reduces distortion

(3) Increases gain
(4) Increases bandwidth

r-iHlT̂ id "R RR7 3tullcH=li RP RRTR Riff 1? ?
(1) TR Rrt =t) H $Ml
(2) fq^Hul RRI ifRT
(3) erf T̂

(4) RRRT

https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap


2/23/23, 10:46 PM Response Sheet

https://kvsexam13feb23s1.cbtexam.in/Candidate/ResponseSheet.aspx?Urlval=fa871369-2971-460b-9691-98a128654623&Rollno=22042440… 76/107

   

 Options:-  

.1, Option ID :- 1281,  

. 2, Option ID :- 1282,  

. 3, Option ID :- 1283,  

. 4, Option ID :- 1284,  

 Answer Given:- 1, Option ID : -1281  
   
   
 Question ID:- 322  

   

 Options:-  

.1, Option ID :- 1285,  

. 2, Option ID :- 1286,  

. 3, Option ID :- 1287,  

. 4, Option ID :- 1288,  

 Answer Given:- 2, Option ID : -1286  
   
   
 Question ID:- 323  

The deflection on the screen of CRT is :

(1) Directly proportional to the deflecting voltage VD.

(2) Directly proportional to the accelerating voltage Va.

(3) Proportional to separation between plates.

(4) None of the above.

CRT RT eflcfT % :

(1) qlcrtidl VD % ^Hl^Hldl
(2) <^Rd dVidl Va 'SftsfT HHI^MIdl
(3) Hpg4l’ % ^Hl^Hldl
(4) ^^ <4)1^

The magnetic deflection sensitivity of CRT is :

(1) Independent of Magnetic field intensity B

(2) Proportional to the Magnetic field intensity B.

(3) Inversely proportional to the magnetic field intensity B

(4) None of the above.

CRT f^PP1!^yifedi f?pft % :

(1) ^«lVh dlsidl B ^ RRlfSRT
(2) dlsldl B^^Hl^Hldl
(3) olsfcll B eRT oijcsbHl^Hldl
(4) ^
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 Options:-  

.1, Option ID :- 1289,  

. 2, Option ID :- 1290,  

. 3, Option ID :- 1291,  

. 4, Option ID :- 1292,  

 Answer Given:- 4, Option ID : -1292  
   
   
 Question ID:- 324  

   

For a half wave controlled rectifier, the average value of output dc voltage is given by :

(1) V* = cosfl, )

(2) Vdc = ^k(l + cose,)
TT

(3) Vdc = ^.(cose, - 1 )
TT

(4) Vdc = ^(1 + cosfl,)

3?^—cR’T P-Nfad P?gd-> K1 % dc 3lctidl 3f^7cT RH PlHl'Pbd Ff fd f̂nd flcTI t ?

(1) Vdc = ^- (1- COS0!)

2V
(2) Vdc = ±̂ -(1+ cos0a )

TT

(3) ^ = -̂(«*8, - 1)
TT

(4) Vdc =|s.(l + cose, )

In LC filter, the ripple factor :

(1) Increases with the load current.
(2) Decreases with the load current.
(3) Increases with the load resistance.
(4) Remains constant with the load current.

LC ( Pl'Wd'+i ) 3 :

(1) HTftd *TRT % FTM 11
(2) 'RTfel m\ % ^Tl«f TOT11
(3) m3fcRte % t 1

(4) MTfel *TRT % FTT T̂ ppicl WT % I
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 Options:-  

.1, Option ID :- 1293,  

. 2, Option ID :- 1294,  

. 3, Option ID :- 1295,  

. 4, Option ID :- 1296,  

 Answer Given:- 4, Option ID : -1296  
   
   
 Question ID:- 325  

   

 Options:-  

.1, Option ID :- 1297,  

. 2, Option ID :- 1298,  

. 3, Option ID :- 1299,  

. 4, Option ID :- 1300,  

 Answer Given:- 3, Option ID : -1299  
   
   
 Question ID:- 326  
   

The bleeder resistor is mainly used in the dc power supply :

(1) As a safety feature to discharge capacitors to safe voltage levels after power is removed.
(2) To improve voltage regulation.
(3) Both (1) and (2)
(4) To keep the power supply on.

fasjcf (dc) SIPjM if ’SffcRlSrai epffi ‘SPJrf) i?ldT %?
(1) falpl 3TF&T T̂Ff % d) <r<i<1l TcR ^TPflfof % PI4H-1 TRSJT 'SgFT % if
(2) dWdl % fafrWT if FpiK efFf % feTT
(3) (1) (2) ^F?f

(4) fa^d 37PjfH îff % 1^

Find Ceq :
C

A *- B
CC c

5c« 3
5c<2> 3
I c(3) 3

ic(4) 5
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 Options:-  

.1, Option ID :- 1301,  

. 2, Option ID :- 1302,  

. 3, Option ID :- 1303,  

. 4, Option ID :- 1304,  

 Answer Given:- 1, Option ID : -1301  
   
   
 Question ID:- 327  
   

Ceq TTR W ^vt :

C

A •- B
C C C

5r
3

* c<2> 5

-C(3) 5
-c(4) 5

Find the node voltage Vb:
VbI AVA .A/VW

6 ft 3 ft

8v
+0 (b2A

(1) 7 volts

(2) 4 volts

(3) 6 volts

(4) 3 volts
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 Options:-  

.1, Option ID :- 1305,  

. 2, Option ID :- 1306,  

. 3, Option ID :- 1307,  

. 4, Option ID :- 1308,  

 Answer Given:- 1, Option ID : -1305  
   
   
 Question ID:- 328  

   

 Options:-  

.1, Option ID :- 1309,  

. 2, Option ID :- 1310,  

. 3, Option ID :- 1311,  

SfTCTfa =<!<rddl W :

I Vb AAAA
6 ft 3 ft

+, +> M8V

(1) 7^2

(2) 4

(3) 6

(4) 3

The ratio of energy stored by the series combination of two identical capacitors to their parallel
combination, when connected to same supply voltage is :

(1) 1

1<2> 2
(3) 4

I
(« 1

faejd 3TTjf^ cjWddl ^ T7 ^1 TT^T HMHIcK TPT5H 3
37;JHId 7̂1 T?lFTT ?

(1) 1

1<2> 2
(3) 4

1
(4) 4
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. 4, Option ID :- 1312,  

 Answer Given:- 4, Option ID : -1312  
   
   
 Question ID:- 329  

   

 Options:-  

.1, Option ID :- 1313,  

. 2, Option ID :- 1314,  

. 3, Option ID :- 1315,  

. 4, Option ID :- 1316,  

 Answer Given:- 1, Option ID : -1313  
   
   
 Question ID:- 330  

In which of the following cases will the mutual inductance be (i) Minimum (ii) Maximum ?

nmnnsm]
'mstss'(C)(a)

(1) (i)-(b), (ii)-(c)
(2) (i)-(b), (ii)-(a)

(3) (i)-(a), (ii)-(b)

(4) (i)-(a), (ii)-(c)

(dHl
'ldid ^ ^TT3Tf if HK*HR=H (i) ^ddH (ii) 3Tf%JchdH Hcbdl % ?

(C)(a)

(1) (i)-(b), (ii)-(c)
(2) (i)-(b), (ii)-(a)

(3) (i)-(a), (h)-(b)
(4) (i)-(a), (ii)-(c)
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 Options:-  

.1, Option ID :- 1317,  

. 2, Option ID :- 1318,  

. 3, Option ID :- 1319,  

. 4, Option ID :- 1320,  

 Answer Given:- 3, Option ID : -1319  
   
   
 Question ID:- 331  
   

In a series L-C R circuit, voltage across inductor, capacitor and resistor are VL, Vc and VR
respectively. What is the phase difference between ?

(i) VLandVR
(ii) VL and Vc ?

77
(1) (i) (ii) 02

77
(2) (i) (ii)77 2

77
(3) (i) (ii) 772

37777
(4) (i) (ii)2 2

LrC R 3 TTSflfol 3^ qWdl 3vR?T: VL, Vc 3fR VR % <Tt :

(i) VL VR (ii) VL #[ Vc
% f^RTfanT ^ W %?

77
(1) (i) (ii) 02

77
(2) (i) (ii)77 2

77
(3) (i) (ii) 772

37777
(4) (i) (ii)2 2

An electric bulb is connected in series with an inductor and an AC source. When switch is closed
and after some time an iron rod is inserted into the interior of inductor. The brightness of the bulb
will :

(1) Decrease, due to increase in inductive reactance.
(2) Increase, due to increase in inductive reactance.
(3) Decrease due to decrease in inductive reactance.
(4) No change in brightness.
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 Options:-  

.1, Option ID :- 1321,  

. 2, Option ID :- 1322,  

. 3, Option ID :- 1323,  

. 4, Option ID :- 1324,  

 Answer Given:- 1, Option ID : -1321  
   
   
 Question ID:- 332  
   

^Pc)ik=b 3pR yeMMclT *TRI ^l?f ^ ^ 1^fsf'JUrll

^3TOWI^TT f^TT WO; 3?lR^ W1 ®TK PdiU=b % 3RT: *fFT 3 T3=F l̂t^ 3RT:WpRT RFT M̂T
% cfr ^ ciM'+i -

(1) yRi^id % % =bK <j|w. r̂ral % i

(2) "SffcMcT % % =hKul T̂Tcft 11
(3) yPd^Irl % % =bKul T̂Tcft % I

(4) ^^TfH f̂ ?̂[f HRCURI T̂Ff ^IcTT % I

The following figure shows the input waveform A and B and output waveform Y of a gate. Identify
the gate :
A

B

Y
(1) OR gate
(2) AND gate
(3) XNOR gate
(4) NAND gate
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 Options:-  

.1, Option ID :- 1325,  

. 2, Option ID :- 1326,  

. 3, Option ID :- 1327,  

. 4, Option ID :- 1328,  

 Answer Given:- 3, Option ID : -1327  
   
   
 Question ID:- 333  
   

WT ( $-1^ %^Wf A 3^R B TT T̂T Pi^ H WT Y ^f ctfii^ i "W % I
Tte H ^-ciM 1̂(^14,:

A , ,

B

Y
(1) OR Tfe
(2) AND ?tZ
(3) XNOR

(4) NAND

For an amplitude modulated wave, the maximum amplitude is found to be10 V while the minimum
amplitude is found to be 2 V. What is the modulation index m ?

1
W 5

2<2> 3
(3) 1

1
(4) 2

https://applink.adda247.com/d/XhqWf9lSap
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 Options:-  

.1, Option ID :- 1329,  

. 2, Option ID :- 1330,  

. 3, Option ID :- 1331,  

. 4, Option ID :- 1332,  

 Answer Given:- 2, Option ID : -1330  
   
   
 Question ID:- 334  

   

 Options:-  

.1, Option ID :- 1333,  

. 2, Option ID :- 1334,  

. 3, Option ID :- 1335,  

. 4, Option ID :- 1336,  

 Answer Given:- 3, Option ID : -1335  
   
   
 Question ID:- 335  

Rb«il STPTTR Hl§fdd WT % 3#RirR 3TPTN 10 V Wfl ^TTcTT % ^ddH 3MTR 2 V % cTt HI-§cM

^•cjchldi m T̂T % :

1
(1) 5

2<2> 3

(3) 1

(4) \

As compared to monolithic IC's , film IC's have the advantages of :

(1) Lower cost

(2) Better high frequency response
(3) Small size

(4) Reliability

iJchriHiqi 'Jik IC^ cJcHT 3 fWn IC W CTT*1f ?
(1) didd

(2) 3H|c|Rl
(3) d^, STRFTR

(4) fcRct -Hdl -Mdl
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 Options:-  

.1, Option ID :- 1337,  

. 2, Option ID :- 1338,  

. 3, Option ID :- 1339,  

. 4, Option ID :- 1340,  

 Answer Given:- 3, Option ID : -1339  
   
   
 Question ID:- 336  

   

 Options:-  

.1, Option ID :- 1341,  

. 2, Option ID :- 1342,  

. 3, Option ID :- 1343,  

. 4, Option ID :- 1344,  

 Answer Given:- 4, Option ID : -1344  
   
   
 Question ID:- 337  

In an Integrated circuit, the Si02 layer provides :

(1) Physical strength.
(2) Conducting path.
(3) Isolation.
(4) Electrical connection to the external circuit

f^RTf i4 =bl <3id tf , Si02 ^ ^IcfT % ?
(1) !4 ®lddl

(2) -dlddird RFf
(3) Tj«raror
(4) «fTU 'trfT'RJ ^

Monolithic transistors are formed in the epitaxial N-layer :

(1) In one operation.
(2) By repeated impurity diffusions.
(3) By evaporation process.
(4) By oxidation.

ychdHiqi'Jll ilTdW N-̂ Rcl PlWd I?lct f
(1) 3
(2) 3T?pJ fa*l<ul £RI

(3) cilNlĉ ^d % WP^
(4) ( cHT'=HH ) <=h<ul ) 'gJTI
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 Options:-  

.1, Option ID :- 1345,  

. 2, Option ID :- 1346,  

. 3, Option ID :- 1347,  

. 4, Option ID :- 1348,  

 Answer Given:- 3, Option ID : -1347  
   
   
 Question ID:- 338  

In the circuit shown, the value of output Vo is :
MM
12 kO

4 ka
-Vo+1V* MM

+2V* VvVv
6 kfl

(1) + 3 V
(2) -3 V

(3) — 7 V

(4) + 7 V

"£( PI4H c^lcrcL'̂ l tTH W^:
MM
12 ka

4 kfl
Vo+1V* MM

+ 2V» AW
6 kfl

(1) + 3 ^tv3

(2) -3

(3) -7^2

(4) + 7^2
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Choose the properties of ideal op Amp :

(1) Open loop gain = finite

Open loop bandwidth = oo

CMRR = oo

Input resistance = 0
Output resistance = oo

(2) Open loop Bandwidth = oo

Open loop BW = oo

CMRR = oo

Input resistance = oo

Output resistance = 0

(3) Open loop gain = oo

Open loop bandwidth = oo

CMRR = 0

Input resistance = oo

Output resistance = oo

(4) Open loop gain = oc

Open loop BW = oo

CMRR = 0
Input resistance = oo

Output resistance = 0
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 Options:-  

.1, Option ID :- 1349,  

. 2, Option ID :- 1350,  

. 3, Option ID :- 1351,  

. 4, Option ID :- 1352,  

 Answer Given:- 2, Option ID : -1350  
   
   
 Question ID:- 339  

3TT f̂ gw SFTteTC WT g°T£p} faP^d

(1) fsw#i = MRPHCI
gW WI ®l^fc) -̂ 5 = 00

CMRR = oo

fWftT Trf?Rte = 0

PH4H yPd <)^ = oo

(2) gw RTCT = oo

gW Wf 4-sf̂ 4̂ BW = 00

CMRR = oc

f̂ ?T 'SfpTCt*! = oo

fwfa = 0

(3) gw W Wf®* = oo

gw wi = oo

CMRR = 0
yfcuV-T = 00

Pi4M yRul^ = oo

(4) grfr W?T = 00

gw w = oo

CMRR = 0

f44vi yftulsi = oo

fwfa = 0

:
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Transfer characteristics of op-Amp is :

Vo
> t

>vd(1)

Vo
Vsat

>Vd(2)

Vsat

Vo
Vsat

*Vd(3)

Vo

*Vd(4)

Vsat
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 Options:-  

.1, Option ID :- 1353,  

. 2, Option ID :- 1354,  

. 3, Option ID :- 1355,  

. 4, Option ID :- 1356,  

 Answer Given:- 2, Option ID : -1354  
   
   
 Question ID:- 340  

IESA

(t) PA+

°A

fe) PA+

OA

ŜA

fe) PA*
1BSA

OA

(l) pA+

OA

4IPblfeloJln>Uteib
^
hiie(JO)<fc£. :
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 Options:-  

.1, Option ID :- 1357,  

. 2, Option ID :- 1358,  

. 3, Option ID :- 1359,  

. 4, Option ID :- 1360,  

 Answer Given:- 3, Option ID : -1359  
   

The output of the circuit is :

Rf
-WA-

Rl
V2 c

-o Vo
Vio FRl

(1) V„ =|l(V2 - V,)

(2) V0 -|l(Vl - V2)

(3) V0 = ^£- (V2 - V,)

v ~Rf
(4) V» = ^

frfa t :

Rf

Ri
V2 0 -WA.

0V0
Vic YRi

v0 = ^(v2 - Vj)(i) Rf

v0 = - v2 )(2) Rf

V0 =^(V2 - Va )(3) Rl
V - ~Rf

(4) v° RP
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 Question ID:- 341  

   

 Options:-  

.1, Option ID :- 1361,  

. 2, Option ID :- 1362,  

. 3, Option ID :- 1363,  

. 4, Option ID :- 1364,  

 Answer Given:- 2, Option ID : -1362  
   
   
 Question ID:- 342  

The unity follower circuit provides a gain of :

(1) Zero with phase reversal.
(2) Unity with no phase reversal.
(3) Unity with phase reversal

(4) Zero with Zero phase.

3TfTT*ft 'TftTST 3 PlHlTchcl YTH t :

(1)
(2) T??f^ deHH =h

(3) cTf?R=F
(4) %*T % d ^HMcfc
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In negative feedback, choose the correct one :
Gain

(1)
BW

(BW)f
gain

(2) f

(3)
f

(BW)f = BW
BW- Bandwidth

gain

(4)
BW

(BW)f = 0
BW- Bandwidth
(BW)f - Bandwidth with feedback
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 Options:-  

.1, Option ID :- 1365,  

. 2, Option ID :- 1366,  

. 3, Option ID :- 1367,  

. 4, Option ID :- 1368,  

 Answer Given:- 1, Option ID : -1365  
   
   
 Question ID:- 343  

W \\ZTm ( Lbl 'S^cb ) 3 ^ :

cTfî T

(1)
BW—(BW)f—*

#%(2)
*-(BW)f i

(3)
f

(BW)f = BW
BW -

cTf̂ T

(4)
f

BW
(BW)f = 0

(BW)f = TlfcWJT
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 Options:-  

.1, Option ID :- 1369,  

. 2, Option ID :- 1370,  

. 3, Option ID :- 1371,  

. 4, Option ID :- 1372,  

 Answer Given:- 3, Option ID : -1371  
   
   
 Question ID:- 344  
   

By increasing the iiumbers of stages is an amplifier gain bandwidth product :

(1) Increases

(2) Decreases
(3) Remains constt.

(4) Becomes unity

(1) t
(2) 'Jllcll t
(3) feRWt
(4) ^361^ f?f f̂RlT %

For a given transfer function

1001 1 + —
50H(jw) =

1 + M 1 +^20 200

Zeroes and poles are :

(1) Zeroes : 50 Hz, 20 Hz, 200 Hz Poles : 0 Hz

(2) Zeroes : 50 Hz, 20 Hz Poles : 200 Hz

(3) Zeroes : 20 Hz, 200 Hz, Poles : 50 Hz
(4) Zeroes : 50 Hz Poles : 20 Hz, 200 Hz
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 Options:-  

.1, Option ID :- 1373,  

. 2, Option ID :- 1374,  

. 3, Option ID :- 1375,  

. 4, Option ID :- 1376,  

 Answer Given:- 4, Option ID : -1376  
   
   
 Question ID:- 345  

   

 Options:-  

.1, Option ID :- 1377,  

. 2, Option ID :- 1378,  

. 3, Option ID :- 1379,  

. 4, Option ID :- 1380,  

 Answer Given:- 4, Option ID : -1380  
   
   
 Question ID:- 346  

fas^ % fair -

100
H(jw) = fl + M¥1 + M

l 20 A 200 )

(1) : 50^T, 20 f̂el, 200 ffef, Sf=T : 0

(2) : 50^T, 20^T, ip : 200 &&

(3) ^p : 20 ^fer, 200^T, ^ : 50

(4) ^p : 50 ffef , §sf : 20 ifel, 200

Two identical RC amplifier stage are coupled. If the mid frequency gain is 100 for each stage, the
overall gain of amplifier is :

(1) 20 dB

(2) 40 dB

(3) 60 dB

(4) 80 dB

^1 RC -cKul ^pHd f̂ l W % I 3HI <^RI Mr^=b R̂°T ff 100 1? ctl ^TRU
Pad'll 1? ?

(1) 20 %f̂ cT

(2) 40

(3) 60 %f̂ cl

(4) 80 %f?RcT
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 Options:-  

.1, Option ID :- 1381,  

. 2, Option ID :- 1382,  

. 3, Option ID :- 1383,  

. 4, Option ID :- 1384,  

 Answer Given:- 1, Option ID : -1381  
   
   
 Question ID:- 347  

VI graph for a mettalic wire at two different temperatures T1 and T2 is shown. Which of the two
temperatures is higher and why ?

V

t
1

(1) Tj is large as resistance increases with temperature.
(2) Tj is large as resistance decreases with temperature.
(3) T9 is large as resistance increases with temperature.
(4) T2 is large as resistance decreases with temperature.

SfcT'l-STeFT cllMsbH T1 3?K T2
"'R fefft rfK VI TTFh W f TTt 3 ' f̂a-TTT

rlllsKH ^f 3^ cRff ?
V

!
i

(1) T j dlHsfcH 3#f5F % <+4Jfct> dIHstiH % Tl yfdpl 8! 'SfScfl % I

(2) Tj =R dIHsbH STpSJcfr % <*MTP*> dIHsbH % TTI8! V£cTT % I

(3) T2 îl dlHsfcH % =KpiPt) dlM9bM % TIT8!IlffRt8!^TTT % I

(4) T2 dlM9hH 3tf «R) t T̂ff%T dIMsbH % TTT8!Tlfofa VScTT 11
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 Options:-  

.1, Option ID :- 1385,  

. 2, Option ID :- 1386,  

. 3, Option ID :- 1387,  

. 4, Option ID :- 1388,  

 Answer Given:- 2, Option ID : -1386  
   
   
 Question ID:- 348  
   

A copper wire of resistance R is uniformly stretched till its length is increased to n times its original
length. Assuming there is no change in density on stretching, Calculate the resistance of new
wire(R')?
(1) R' = nR
(2) R' = n2R
(3) R' = R

(4) R = f
R JJRRRJ feRTi rfIR % cTR ^ d~Mdl S'Hdil ijyt cRT?^ n ^ 5̂TTcft % I RH eflPdM,%
cRTcTT % RTRTcf MRdciH tflcTF t cfl cTR (R1) RfdRtR RlHlRh'd 3RT ‘^RTT ?
(1) R' = nR

(2) R' = n2R

(3) R' = R

• R
(4) R = J

Determine the value of resistance R in the circuit :

50-Wv\.

+
4 A0 ( t)4 A100 5 V|R

(1) 2 0

(2) 4 0

(3) 5 O
(4) 7.5 O
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 Options:-  

.1, Option ID :- 1389,  

. 2, Option ID :- 1390,  

. 3, Option ID :- 1391,  

. 4, Option ID :- 1392,  

 Answer Given:- 3, Option ID : -1391  
   
   
 Question ID:- 349  

   

 Options:-  

.1, Option ID :- 1393,  

. 2, Option ID :- 1394,  

. 3, Option ID :- 1395,  

. 4, Option ID :- 1396,  

 Answer Given:- 3, Option ID : -1395  
   
   
 Question ID:- 350  

R 'Rf^Rm R RH cKlfau, i

5 n
AW

+ 04A4 A0 io a 5 V|R

(1) 2 0

(2) 4 fi
(3) 5 n
(4) 7.5 n

We need a resistor of value 10 kfiwith ±5% tolerance. The sequence of the colour band on this
resistor should be :

(1) Brown, black, orange and silver.
(2) Black, brown, orange and gold.
(3) Brown, black, orange and gold.
(4) Black, brown, red and gold.

±5% TURRTT 10 kfl BFT I ^ "RT jshH FfrT I

(1) ^>MT, 3?fc
(2) cbldl , wil 3?k *<=lui
(3) ^1, ofiTen, WTt tftl

(4) ^T, eTM 3?R W>f
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 Options:-  

.1, Option ID :- 1397,  

. 2, Option ID :- 1398,  

. 3, Option ID :- 1399,  

. 4, Option ID :- 1400,  

 Answer Given:- 3, Option ID : -1399  
   
   
 Question ID:- 351  

   

 Options:-  

.1, Option ID :- 1401,  

. 2, Option ID :- 1402,  

. 3, Option ID :- 1403,  

. 4, Option ID :- 1404,  

 Answer Given:- 2, Option ID : -1402  
   

Identify the false statement :

(1) A primary cell is non rechargeable and cannot be reused.
(2) Dry cells are light weight and small.
(3) Nickel cadmium cell is an example of primary cell.
(4) Dry cell is an electrochemical cell consisting of low moisture immobilized electrolytes in the

form of a paste.

hHn r̂ d dilFdy, I

(1) RFf^% ^RT MR 3Riff WRI ^ RRRTT 11
(2) R>I RRR 6c-=bl l? RTI t $dd-> l 3fTR>R WtRT iffRT % I

(3) Tfef UTSTfiT̂ 4dl6<ul 11
(4) fd j,d i'HNldcb TfRT FTcfT % RTR 3R^cfT, STRRffrRT %Jcf 3TWSR ffe % 3RTf^2 effcTT

tl

A UJT has RBB =10 K and RB2= 4 K. Its intrinsic stand-off ratio is :

(1) 0.6

(2) 0.4

(3) 2.5

(4) 0.5

UJT 3 RBB =10 K RB2= 4 K % I c?t S-Hdil 31̂ iidR=ti RR£R 3H ^HId PlHl'fcbd ^ TRT %?
(1) 0.6

(2) 0.4

(3) 2.5

(4) 0.5
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 Question ID:- 352  

   

 Options:-  

.1, Option ID :- 1405,  

. 2, Option ID :- 1406,  

. 3, Option ID :- 1407,  

. 4, Option ID :- 1408,  

 Answer Given:- 2, Option ID : -1406  
   
   
 Question ID:- 353  
   

In an SCR, IG is the gate current, 04 + a2 are the current gains of the PNP and NPN transistors
respectively, then anode current is given by (IA) :

alIG
(l) u= 1- («1 + “2)

T
_ «2lG

(2) 1- (aj + a2)

al
(3) U= (at + «2 ) “ 1

T a2^G(4) U- al a2

favHl SCR IG ^ *IKT % + a2 sfcMVI: PNP 3|fc NPN *JKT clf Î 1? iff Tpffe *JRI ^>T Pl^Hul

(IA) 3^#TT :

“lie
(l) u- 1- («! + a2 )

a2^G(2) U= I ” (“l + «2 )

«1 lc
(3) >A = («1 + «2) ~ 1

T _ a2^G
(4) l A

at + a2

The sensidvity(s) of a photoelectric transducer is given by :

(1) S= I*i

(2) S=i/I
(3) S= I/i
(4) S= I +i

Where I is the output current of photoelectric transducer and i is the illumination of the light input
of photoelectric transducer.
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 Options:-  

.1, Option ID :- 1409,  

. 2, Option ID :- 1410,  

. 3, Option ID :- 1411,  

. 4, Option ID :- 1412,  

 Answer Given:- 2, Option ID : -1410  
   
   
 Question ID:- 354  

   

 Options:-  

y =bW fc)|Jd ^^ifedl PdMlid-id 7FR PH P̂Hd ^1? I Wf PldicrH ^Fn< l

(1) S= I*i
(2) S=i/I

(3) S= I/i

(4) S= I + i

W I MR! HKshH =h *TRT t 3fai WT falJcT HKshH WI f^T^ 11

Match the List I with List II :

List-I
(A) Linear variable differential transformer (LVDT)
(B) Capadtative type transducer

(C) Piezoeletric transducer

(D) Electromechanical type transducer

List-II
(i) Motion transducer

(ii) Rochelle salt

(iii) Displacement sensitive

(iv) Loudspeaker

(1) (A)-(i), (B)-(iii), (C)-(ii), (D)-(iv)

(2) (A)-(iii), (B)-(i), (C)-(ii), (D)-(iv)

(3) (A)-(iii), (B)-(i), (C)-(iv), (D)-(ii)
(4) (A)-(i), (B)-(iv), (C)-(iii), (D)-(ii)

ITcft'-I 'TT^'-II yARdd dPlPsIH :

^-i Ipft-II

(i) Jlfd
(ii) crMul

(iii)

(iv) di <J« *41<M

(A) nP<c) r4 ZRTWfc (t^/^/st.Zp )

(B) TT^TR r̂ TT^q MRsbM'+i

(C)

(D) ^cl qffach % HKshHdi

(1) (A)-(i), (B)-(iii), (C)-(ii), (D)-(iv)

(2) (A)-(iii), (B)-(i), (C)-(ii), (D)-(iv)

(3) (A)-(iii), (B)-(i), (C)-(iv), P)-(ii)
(4) (A)-(i), (B)-(iv), (C)-(iii), (D)-(ii)
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.1, Option ID :- 1413,  

. 2, Option ID :- 1414,  

. 3, Option ID :- 1415,  

. 4, Option ID :- 1416,  

 Answer Given:- 2, Option ID : -1414  
   
   
 Question ID:- 355  

   

 Options:-  

.1, Option ID :- 1417,  

. 2, Option ID :- 1418,  

. 3, Option ID :- 1419,  

. 4, Option ID :- 1420,  

 Answer Given:- 4, Option ID : -1420  
   
   
 Question ID:- 356  
   

When emitter bypass capacitor in a CE amplifier is removed, it considerably reduces :

(1) Input resistance

(2) Output load resistance

(3) Emitter current

(4) Voltage gain

^CE "srasfai 3 Pl =hd^ T̂cTT 'icH'jfch ^ZFTT t eft 3 ®TgcT 3#fcf7 TTRt
1? :

(1) Pl^l

(2) fpfrt T̂TfteT TffcRtV
(3) •drH'Jll SfRT

(4) c(Vddl etfstf

The output admittance ho of an ideal transistor connected in CB configuration is :

(1) 0

1<2> 7
1

(3) Pre
(4) -1
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 Options:-  

.1, Option ID :- 1421,  

. 2, Option ID :- 1422,  

. 3, Option ID :- 1423,  

. 4, Option ID :- 1424,  

 Answer Given:- 1, Option ID : -1421  
   
   
 Question ID:- 357  

   

 Options:-  

.1, Option ID :- 1425,  

. 2, Option ID :- 1426,  

. 3, Option ID :- 1427,  

. 4, Option ID :- 1428,  

 Answer Given:- 2, Option ID : -1426  
   
   
 Question ID:- 358  
   

CB ^ ta*il talH Ml^ldl (ho) % :

(1) 0

1<2> 7
I

(3) pre
(4) -1

A class B push pull amplifier has the main advantage of being free from :

(1) Any circuit imbalances.
(2) Unwanted noise.
(3) Even order harmonic distortion.
(4) DC magnetic saturation effects.

^% "5?! "Jef Vldfeta % ta^:

(1) 3 ^"gw ffWT f I

(2) 3^jf|5cf $flk '-Tiff s^RTI % I

(3) ,HHM shM cRT T) {?ldl 1? I

(4) f^S feTET % -gHchV-l TTcfH Tt Tgrfj" s?TdT % I

The circuit efficiency of a Class A amplifier can be increased by using :

(1) Low dc power input.
(2) Direct coupled load.

(3) Low-rating transistor

(4) Transformer-coupled load.

https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap


2/23/23, 10:46 PM Response Sheet

https://kvsexam13feb23s1.cbtexam.in/Candidate/ResponseSheet.aspx?Urlval=fa871369-2971-460b-9691-98a128654623&Rollno=2204244… 106/107

 Options:-  

.1, Option ID :- 1429,  

. 2, Option ID :- 1430,  

. 3, Option ID :- 1431,  

. 4, Option ID :- 1432,  

 Answer Given:- 4, Option ID : -1432  
   
   
 Question ID:- 359  

   

 Options:-  

.1, Option ID :- 1433,  

. 2, Option ID :- 1434,  

. 3, Option ID :- 1435,  

. 4, Option ID :- 1436,  

 Answer Given:- 4, Option ID : -1436  
   
   
 Question ID:- 360  

^ ( CK1I -H A ) % irftTT«f STRcTT flHlRbd if ^ f?vR MR MT R =bdl H ?
(1) t^g *1RT f^T % $JRT
(2) ^pHd RR % £RT

(3) <2R % ilTdftii ^TT y4lJl =h<
(4) £RI 4i4<-^pHd RR T̂ "5PTRI 3R

IJcft'-I 3?R RTcft-11 *j4Rld dilRdM, :

RTMf-II ( ^idd cbluI )

(i) < 180°

(ii) 180° - 360°

(iii) 180°

(iv) 360°

TJ^-I

(A) TTSTR =FT (3CTRT A )

(B) ^ <^ T̂ 3JHRf =F (^TRTB)

(C) ( T̂RT AB )

(D) (^fRTC)

(1) (A)-(iv), (B)-(iii), (C)-(ii), (D)-(i)
(2) (A)-(iv), (B)-(ii), (G)-(iii), (D)-(i)
(3) (A)-(i), (B)-(ii), (Q-(iii), (D)-(iv)

(4) (A)-(i), (B)-(iii), (Q-(ii), (D)-(iv)
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 Options:-  

.1, Option ID :- 1437,  

. 2, Option ID :- 1438,  

. 3, Option ID :- 1439,  

. 4, Option ID :- 1440,  

 Answer Given:- 3, Option ID : -1439  
   

The voltage gain of an amplifer is 100 on applying negative feedback with B = 0.03, the gain will
reduce to :

(1) 70

(2) 99.97

(3) 25

(4) 3

dVddl 100 11 B =0.03 3te«ll3 f¥ld TfdWl % -q n̂^Rbddl s?l WQTTt ?
(1) 70

(2) 99.97

(3) 25

(4) 3
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059 3Reasoning Ability
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062 4Reasoning Ability
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067 4Reasoning Ability
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069 1Reasoning Ability
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073 3Computer Literacy
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075 4Computer Literacy
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077 1Computer Literacy

078 3Computer Literacy
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081 1Work Experience

082 1Work Experience
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085 4Work Experience
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087 4Work Experience

088 1Work Experience

089 4Work Experience

090 1Work Experience

091 3Work Experience

092 3Work Experience

093 1Work Experience

094 1Work Experience

095 4Work Experience

096 3Work Experience

097 4Work Experience

098 2Work Experience

099 1Work Experience
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113 2Work Experience
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119 1Work Experience
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124 3Work Experience

125 2Work Experience
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132 3Work Experience

133 2Work Experience
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140 3Work Experience

141 1Work Experience

142 1Work Experience

143 4Work Experience
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146 1Work Experience

147 1Work Experience

148 4Work Experience

149 1Work Experience

150 3Work Experience

151 1Work Experience

152 2Work Experience

153 2Work Experience
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165 4Work Experience

166 1Work Experience
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168 3Work Experience

169 3Work Experience

170 3Work Experience

171 1Work Experience

172 2Work Experience

173 3Work Experience

174 2Work Experience

175 4Work Experience

176 1Work Experience

177 3Work Experience

178 4Work Experience

179 1Work Experience

180 3Work Experience
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